A LOOK BACK <

Chapter 7 examined cash flow
measures of business activities and
showed how this information
complements our study of accrual
measures in earlier chapters. We also
demonstrated how reconstruction of
transactions assists in the use of
cash flow data.

A LOOK AT THIS
CHAPTER

This chapter focuses on return

with an emphasis on profitability.
We emphasize return on invested
capital and explain variations in its
measurement. Special attention is
directed at return on net operating
assets and return on common
shareholders’ equity. We explore
disaggregations of both these return
measures and describe their relevance
to our analysis. Financial leverage is
explained and analyzed using the
return measures in this chapter.

A LOOK AHEAD >

Chapter 9 extends our focus on
analysis tools to include prospective
analysis and the forecasting of
financial statements. We illustrate
forecasting mechanics and
demonstrate the application of
prospective analysis for valuation of
common stock.
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CHAPTER EIGHT

RETURN ON INVESTED
CAPITAL AND
PROFITABILITY
ANALYSIS

ANALYSIS OBJECTIVES
e Describe the usefulness of return measures in financial
statement analysis.

e Explain return on invested capital and variations in its
computation.

® Analyze return on net operating assets and its relevance for
analysis.

e Describe disaggregation of return on net operating assets and
the importance of its components.

e Describe the relation between profit margin and asset turnover.

® Analyze return on common shareholders’ equity and its role
in analysis.

® Describe disaggregation of return on common shareholders’
equity and the relevance of its components.

e Explain operating and financial leverage and how to assess a
company’s success in using leverage to increase returns.
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Analysis Feature

A Good Fit for Gap?

SAN Francisco—Gap Inc’s return
on equity reached a high of 59% in
2000; then it took a nosedive. Gap
had lost touch with its customers.
Its distinctive lines became unin-
spired and its Old Navy value-
priced line of clothes cannibalized
customers from the higher-margin
Gap lines and cheapened the com-
pany’s image. Sales growth slowed
from over 30% per year to less than
half that level. Inventory turnover
dropped from over seven times a
year to less than four as the com-
pany struggled to reduce unsold
inventories.

Gap had borrowed heavily as it
spent money to upgrade and ex-
pand its stores. Its financial lever-
age increased to more than $0.76
in debt for each $1.00 in equity,
nearly double the $0.40 average
for all publicly traded companies.
Given its lack of profitability and
high debt load, credit agencies
lowered the rating on Gap bonds
to just above “junk” status.

Gap desperately needed a
change in strategy. It brought in

Paul Pressler to run the company.
Pressler had previously managed
Disney’s theme parks and brought
a new customer focus. He began
closing unprofitable stores to gen-
erate cash that he then used to
pay down debt. Gap’s financial
leverage dropped by over half, to
a more conservative level of 29%.

... Gap has yet
to return to its
glory years . ..

He upgraded the company’s in-
formation systems to gain better
control over operations, and its
gross profit margin increased
from 30% to 39%; a dramatic in-
crease for a company in the
highly competitive retail clothing
industry. Pressler also successfully
trimmed a percentage point off
Gap’s SG&A expenses as a per-
cent of sales.

The increase in gross margin
and decrease in operating costs

PREVIEW OF CHAPTER 8

Financial statement analysis involves assessing both risk and return. Return on invested
capital refers to a company’s earnings relative to both the level and source of financing.
It is a measure of a company’s success in using financing to generate profits. This chap-
ter describes return on invested capital and its relevance to financial statement analysis.
We explain variations in measurement of return on invested capital and their interpre-
tation. We also disaggregate return on invested capital into important components for
additional insights into company performance and future operations. The role of finan-
cial leverage and its importance for returns analysis is examined. This chapter demon-
strates each of these analysis techniques using actual financial statement data, including

those of Campbell Soup Company.

combined to increase Gap’s oper-
ating profit margin from loss lev-
els to an 8% profit, which is much
higher than the 5.5% average for
competitors.

In response, Gap’s stock price
doubled. Yet, many analysts see
its increased stock price as merely
reflective of a stronger balance
sheet as Gap used its cash to
reduce debt and to repurchase
shares.

Gap’s marketing side has yet
to bear fruit. “The stores do not
look good; the product is not
great, nor is it just OK,” says
Jennifer Black, a retailing analyst
who has her own firm. “They lost
their focus . . . who is their target
customer?” (Forbes, 2005)

Downsizing and systems up-
grades can only do so much. Al-
though Pressler has been a good
fit so far for Gap, he has yet to re-
turn Gap to its glory years as
a premier marketer. Gap’s share
price will not fully take off until
he does.
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Return on Invested Capital

Importance of Return
on Invested Capital

Components of Return
on Invested Capital

Analyzing Return
on Net Operating
Assets

Analyzing Return on
Common Equity

Managerial Defining invested Disaggregating Disaggregating
effectiveness capital return on net ROCE
Profitability Analytical operating assets | | Computing returns

Planning and control

adjustments
Computing return

Profit margin and
asset turnover

Financial leverage
Assessing equity

Profit margin growth
analysis
Asset turnover
analysis

=uusunal MPORTANCE OF RETURN
ON INVESTED CAPITAL

We can analyze company performance in several ways. Revenue, net income, and asset
growth are performance measures in common use. Yet none of these measures
individually are useful as a comprehensive measure of company performance. The rea-
son stems from their interdependency and the interdependency of business activities.
For example, increases in revenue are desirable only if they increase profits. Asset in-
creases are desirable only if they generate additional sales volume. To assess net income
we must relate it to invested capital. For example, a profit of $1 million is assessed dif-
ferently if a company’s invested capital is $2 million or $200 million.

Analysis of company performance demands joz72¢ analysis, where we assess one mea-
sure relative to another. The relation between income and invested capital, referred to
as return on invested capital (ROIC) or refurn on investment (ROI), is probably the
most widely recognized measure of company performance. It allows us to compare
companies on their success with invested capital. It also allows us to assess a company’s
return relative to its capital investment risk, and we can compare the return on invested
capital to returns of alternative investments. Government treasury bonds reflect a min-
imum return due to their low risk. Riskier investments are expected to yield higher
returns. Analysis of return on invested capital compares a company’s income, or other
performance measure, to the company’s level and source of financing. It determines a
company’s ability to succeed, attract financing, repay creditors, and reward owners. We
use return on invested capital in several areas of our analysis including: (1) managerial
effectiveness, (2) level of profitability, and (3) planning and control.

Measuring Managerial Effectiveness

The level of return on invested capital depends primarily on the skill, resourcefulness,
ingenuity, and motivation of management. Management is responsible for a company’s
business activities. It makes financing, investing, and operating decisions. It selects
actions, plans strategies, and executes plans. Return on invested capital, especially when
computed over intervals of a year or longer, is a relevant measure of a company’s
managerial effectiveness.
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Measuring Profitability

Return on invested capital is an important indicator of a company’s long-term finan-
cial strength. It uses key summary measures from both the income statement (profits)
and the balance sheet (financing) to assess profitability. This profitability measure has
several advantages over other long-term measures of financial strength or solvency
that rely on only balance sheet items (such as debt to equity ratio). It can effectively
convey the return on invested capital from varying perspectives of different financing
contributors (creditors and shareholders).

Measure for Planning and Control

Return on invested capital serves an important role in planning, budgeting, coordinat-
ing, evaluating, and controlling business activities. This return is composed of the
returns (and losses) achieved by the company’s segments or divisions. These segment
returns are also made up of the returns achieved by individual product lines, projects,
and other components. A well-managed company exercises control over returns
achieved by each of its profit centers and rewards its managers on these results. In
evaluating investing alternatives, management assesses performance relative to ex-
pected returns. Out of this assessment come strategic decisions and action plans for
the company.

ANALYSIS VIEWPOINT ... YOU ARE THE AUDITOR

You are the audit manager responsible for substantive audit tests of a manufactur-
ing client. Your analytical procedures reveal a 3% increase in sales from $2 to
$2.06 (millions) and a 4% decrease in total expenses from $1.9 to $1.824 (millions).
Both changes are within your “reasonableness” criterion of =5%. Accordingly, you do
not expand audit tests of these accounts. The audit partner in charge questions your
lack of follow-up on these deviations and expressly mentions joint analysis. What is the
audit partner referring to?

COMPONENTS OF RETURN
ON INVESTED CAPITAL

Analyzing company performance using return on invested capital is conceptually sound
and appealing. Return on invested capital is computed as:

Income
Invested capital

There is, however, not complete agreement on the computation of either the nu-
merator or denominator in this relation. These differences are valid and stem from
the diverse perspectives of financial statement users. This section describes these
differences and explains how different computations are relevant to different users or
analyses. We begin with a discussion of invested capital, followed by consideration of
income.

DELL HURDLE
Dell Computer has its
marketing department
compute return on
investment for each
equipment sale.
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Invested Capital for a Typical  Defining Invested Capital

Company There is no universal measure of invested capital from which to compute
Long'tde'g; current  rate of return. The different measures of invested capital used reflect
e

liabilities users’ different perspectives. In this section we describe two different
measures of invested capital and explain their relevance to different users
and interpretations.

oy Net Operating Assets
Many analysts segregate the balance sheet and income statements into
operating and nonoperating components and compute a return on net
operating assets (RNOA) as the summary measure of performance.
This parsing of financial statements into operating and nonoperating
components follows from the view that operating activities are the most long-lasting
and relevant for the determination of stock price.
Net Operating Income after Tax Operating activities are the core activities of the
. company. They include all the activities necessary to
to Net Operating Assets bri s brod .
ring a company’s product or service to market, and
Target Corp. : to service its customer needs. Operating activities are
| crucial, and companies must execute them well over

Procter & Gambl . . .
rocter & Hamble T T T I the long run if they are to survive. In the income state-

Common
equity

Johnson & Johnson I ment, operating activities typically include sales, cost
FedEx Corp. ::: of goods sold, and selling and general and admin-
istrative (SG&A) expenses. On the balance sheet,

Dell Inc. ]

operating activities are represented by the assets

Albertsons Inc. and liabilities relating to these income statement ac-

0% 5:% 10% 15% 20% 25% 309 counts, such as accounts receivable, inventories, PPE,
accounts payable, and accrued expenses.

Many firms invest excess cash in financial assets, such as marketable securities, and
earn returns that are typically included in the income statement as “other” income.
Likewise, firms borrow money on short-term and long-term debt, resulting in interest
expense. Although effective management of an investment portfolio along with astute
borrowing can benefit income, these nonoperating revenues and expenses are regarded
as ancillary to the core operating activities of the business. Consequently, investment
returns and borrowing expenses do not typically have a major impact on company
value, unless they are extreme.

Our approach is to analyze a company along this operating/nonoperating
dimension, with the return on net operating assets (RNOA) as the summary mea-
sure of performance. RNOA, which we more fully explore below, is defined as
net operating income after tax (NOPAT) divided by average net operating assets
(NOA).

More specifically, operating assets are comprised of total assets less financial assets
such as investments in marketable securities. Operating liabilities are comprised of total
liabilities less interest-bearing debt. Operating assets less operating liabilities yields #e#
operating assets (NOA). The appropriate income measure to compare with net operating
assets is zet operating income after tax (NOPAT), which equals revenues less operating
expenses such as cost of goods sold, SG&A expenses, and taxes (NOPAT excludes
investment income and interest expense). We discuss the composition of both NOA
and NOPAT in greater depth later in the chapter. Returns on net operating assets for
selected companies are provided in the margin graphic.
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Common Equity Capital Net Income to Common Equity

net income less preferred dividends divided by aver- oo

age common equity. Common equity is equal to total

shareholders’ equity less preferred stock. Preferred

stock is excluded from the computation since, from FedEx Corp.

the viewpoint of common shareholders, preferred

stock has a fixed claim to the net assets and cash flow

of the company, just like debt. ]
Common equity can alternatively be defined as 0% 10% 20% 30% 40% 50%

equal to total assets less debt and preferred stock. The

proportion of debt and equity financing of assets is a capital structure decision that each

company must make. The amount of equity in the capital structure, and thus the amount

of equity used in the computation of return on equity, is, therefore, a function of the de-

gree to which the company is financed with debt (that is, more debt means less equity).

Likewise, the numerator (net income) is impacted by the amount of interest expense

that the company must pay on its debt. As we discuss more fully below, the return on

common equity captures both the returns on net operating assets discussed above and

the effects of financial leverage (the use of debt versus equity in the capital structure). Net

income to common equity for selected companies is provided in the margin graphic.

Computing Invested Capital for the Period

Regardless of our rnvested capital definition, we compare the return for the period with
its investment base. The invested capital for the period is typically computed using the ~ CLEANING UP
average capital available to a company during the period. An average is used to reflect ~ Isurance companies
changes in invested capital during the period. The most common method is adding be- 2 placing increasing

o . . . o . demands on corporations
ginning and ending year invested capital and dividing by 2. We must use care in apply-

Return on common equity (ROCE) is defined as Target Corp. ]
|

Johnson & Johnson ]

Dell Inc. ]

Albertsons Inc.

h as:
ing averaging. Companies in certain industries choose a “natural” rather than calendar sul: aAscceSS to outside
business year. For example, in retailing the natural business year ends when inventories auditors’ reports
and sales are low (for example, January 31 after the holiday season). In this case, *  More grilling of the
averaging year-ends yields the lowest rather than the average invested capital during CEO and CFO

® |Increased scrutiny

the period. A more accurate method is to average interim amounts—for example, adding of financials by

quarter-end invested capital amounts and dividing by 4.

specialists
. . ® Reviews of execs’
Adjustments to Invested Capital and Income track records and
how involved th
Our analysis of return on invested capital uses reported financial statement numbers as bg‘:,:jni\;o e

a starting point. As we discussed in several prior chapters, many accounting numbers
call for analytical adjustment. Also, several numbers not reported in financial state-
ments need to be included. Some adjustments, like those relating to inventory, affect
both the numerator and denominator of return on invested capital, moderating their
effect. Whatever their impacts, the analysis of return on invested capital should use the
appropriately adjusted financial statement numbers as described in earlier chapters.

Computing Return on Invested Capital

This section applies our discussion to an analysis of return on invested capital. We illus-
trate the different measures of both income and invested capital for the computations.
For this purpose, we draw on the financial statements of Excell Corporation reproduced
in Exhibits 8.1 and 8.2. Our return on invested capital computations are for Year 9 and
use amounts rounded to the nearest million.
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Exhibit 8.1

EXCELL CORPORATION
Income Statements
For Years Ended December 31, Year 8 and Year 9

($ thousands) Year 8 Year 9

SAIBS c.voovee e $1,636,298 $1,782,254
Cost of goods sold and operating expenses. . 1,473,293 1,598,679
Operating profit.........cccooverenrrnrrriinnnns 163,005 183,575
Interest expense... 21,825 20,843
Pretax profit ..... 141,180 162,732
Tax expense .. . 52,237 58,584
NEEINCOME oo e $ 88943 $ 104,148

Return on Net Operating Assets

Return on net operating assets (RNOA) is computed as:

Net operating profits after tax (NOPAT)

RNOA = Average net operating assets (NOA)

The denominator of the equation, net operating assets (NOA), is equal to operating
assets less operating liabilities. Operating assets and liabilities are those necessary to
conduct the company’s business, and include cash, accounts receivable, inventories,
prepaid expenses, deferred tax assets, property, plant and equipment (PPE), and long-
term investments related to strategic acquisitions (such as equity method investments,
goodwill, and acquired intangible assets). Netted from these operating assets are current
operating liabilities, such as accounts payable and accrued expenses, and long-term
operating liabilities, such as pensions and other postretirement (OPEB) liabilities and
deferred income tax liabilities.

Nonoperating assets include investments in marketable securities, nonstrategic
equity investments, and investments in discontinued operations prior to sale. Nonoper-
ating liabilities include bonds and other long-term interest-bearing liabilities, and the
noncurrent portion of capitalized leases. Net financial obligations (NFO) is equal to
nonoperating liabilities less nonoperating assets (liabilities are listed first to yield a
positive sign since most companies have more financial liabilities than financial assets).

The distinction between operating and nonoperating activities is summarized in the
following representation of a typical balance sheet:

BALANCE SHEET
Operating assets .........cccccovvunne. 0A Financial liabilities™ ................. FL
Less operating liabilities ............ (0L) Less financial assets................. (FA)
Net financial obligations........... NFO
L Stockholders’ equity™................. SE
Net operating assets................. @ Net financing ..........cccoeevevenen. NFO + SE*

*Includes preferred stock.
tExcludes preferred stock.
*NOA = NFO + SE.
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Exhibit 8.2

EXCELL CORPORATION
Balance Sheets
At December 31, Year 8 and Year 9

($ thousands) Year 8 Year 9
Assets

CaSH oo $ 115,397 $ 71,546
Marketable SECUNIEIES. ...........vveevvereeeeiseiee e 38,008 43,854
Accounts receivable, Net...........cooovvveeveeiieiceiieccen, 177,538 182,859
[NVENTOTIES ...cvoovevece e M M&
Total current aSSets .........coeveveveveicieieie e 535,305 555,097
Investments in unconsolidated subsidiaries.. 33,728 62,390
Marketable securities...........c.ccovveenee. 5,931 56,997
Property, plant, & equipment, net. 1,539,221 1,633,458
Goodwill ................... 6,550 6,550
Total long-term asSetS.........ccoovveevivererererceee e 1,585,430 1,759,395
TOAL @SSEES......oooervveeseeveeesesseesseeeeessseessssenessesssnnenes $2,120,735 $2,314,492
Liabilities

NOLES PAYADIE ......veeee s $ 7,850 $ 13734
Accounts payable..... 138,662 155,482
Taxes payable 24,370 13,256
Current maturities of long-term debt...............cccooeviennnc. M LZZZZ
Total current liabilities..........cccovevvvveiiveeie e 201,322 216,294
Long-term debt........cccoveveiiiieceeee s 507,329 473,507
Pension and OPEB liabilities............cccccccvvvvererrrnrreinnns M M
Total long-term liabilities...........cccoeevivveriierreiseiccin. 1,251,108 1,325,744
Equity

Common STOCK ..o 413,783 413,783
Additional paid-in capital..........cccooeveivererrieriererin, 19,208 19,208
Retained earnings 436,752 540,901
Treasury StOCK .........cooveveieceeeeee e M) M)
Total stockholders” equity.........cocovveeerrverrinreeercieeienn. 668,305 772,454
Total liabilities and eqUIY...........ccoovvvovveverveceserseereenne $2,120,735 $2,314,492

Since the accounting equation stipulates that Assets = Liabilities + Equity, we can also
represent the balance sheet with the following operating- and nonoperating-based

identity:
Net operating assets (NOA) = Net financial obligations (NFO) + Stockholders’ equity (SE)

For Excell Corporation (Exhibit 8.2), the net operating assets (NOA) are equal to total
assets less nonoperating assets, such as short-term and long-term investments in
marketable securities. Operating liabilities are equal to total liabilities less nonoperating
liabilities, such as notes payable to banks, long-term indebtedness payable within one
year, and long-term indebtedness. Net operating assets (NOA) for Years 8 and 9 is
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computed as follows:

Year 8 Year 9
CaSh. oo $ 115,397 $ 71546
Accounts receivable, net 177,538 182,859
[NVENEOMIES ..o 204,362 256,838
Investments in unconsolidated subsidiaries............ 33,728 62,390
Property, plant, & equipment, net ..........cccooovvevuneee. 1,539,221 1,633,458
GOOAWIll ..o 6,550 6,550
Accounts payable .........ccccvvevveeeeeeeeee s (138,662) (155,482)
Taxes PaYable.........coovvevevvereeeeeee e (24,370) (13,256)
Pension and OPEB liabilities ............ccccocoevrernnee. (743,779) (852,237)
Net operating aSSets ..........coovvvveerevveresreeerssenne $1,169,985 $1,192,666

Investments in unconsolidated subsidiaries relate to equity method investments, which
we discuss in Chapter 5. These are presumed to be strategic investments and, therefore,
are treated as operating assets. Likewise, goodwill is treated as operating so long as the
investment is strategic in nature and is presumed as such unless facts dictate otherwise.
Investments in discontinued operations (not present in this example) are treated as
nonoperating since the business unit no longer contributes to the operating profits of
the company.

Net financial obligations are equal to financial obligations such as notes and other
debt payable and dividends payable (not present in this example), less financial assets
such as short-term and long-term investments in marketable securities. For Excell, NFO
for Years 8 and 9 is computed as follows:

Year 8 Year 9
NOtes payable ..o $ 7,850 $ 13,734
Current maturities of long-term debt ... 30,440 33,822
Long-term debt........covvevvvveeieiceinns ... 507,329 473,507
Marketable securities—current...........cccoccune.... (38,008) (43,854)
Marketable securities—noncurrent..................... (5,931) (56,997)
Net financial obligations ............ccccoovvvevverennee. $501,680 $420,212

Finally, NOA = NFO + SE as follows:

NOA =NFO + SE
Year 8 $1,169,985 = $501,680 + $668,305
Year 9 $1,192,666 = $420,212 + $772,454

The numerator of the RNOA equation, net operating profit after tax (NOPAT),
is the after-tax profit earned from net operating assets. The distinction between operat-
ing and nonoperating activities is summarized in the following representation of a
typical income statement:
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INGOME STATEMENT

Operating revenues..........cocevveerevrevreirenenenenes OR
Operating eXpenses .........covwreereereereeeeerenenes (OE)
Operating tax expense

TaX PrOVISION .....covveceeeeveeereeeeee e (TAX)

Tax shield on interest .........ccoocoveverviirerennae. (SHLD)
Operating tax eXpense ........ccccocveeeveeveveerevennnn. iE)
Operating inCoOME .......ccovvveveerceeeeeee e 0l
Net financial expense

Interest eXpense™ ........cocoevevveveveireieeinn, (INTX)

Interest revenue

Tax shield on interest ........cccccoeeveviiverennee. SHLD
Net financial eXpense ........coeeveevvveeveervveevrerenenn. (Nj)
Net iNCOME.....oovceeece e (NI)

*Includes dividends on preferred stock.

Operating income includes sales less cost of goods sold (COGS), operating expenses
(OE) such as selling, general and administrative (SG&A) expenses, and income taxes.
Operating tax expense has two components: the tax provision less the tax shield. Tax
shield on interest refers to the reduction of taxable income (and, thus, tax expense)
arising from the deductibility of interest expense. The tax shield on interest reduces
the effective tax rate (tax expense/pretax income) which is applied to both pretax
operating profit and nonoperating revenue and expense. Items excluded from NOPAT
include interest revenue and expense, dividend revenue, nonoperating investment
gains and losses, and income or loss from discontinued operations (all computed net
of tax).
Specifically, NOPAT is computed as follows':

NOPAT = (Sales — Operating expenses) X (1 — [Tax expense/Pretax profit])
For Excell, NOPAT for Years 8 and 9 is,

Effective tax rate NOPAT

Year 8 $52,237/$141,180 = 37% $163,005 < (1 — 37%) = $102,693
Year 9 $58,584/$162,732 = 36% $183,575 < (1 — 36%) = $117,488

Excell’s return on net operating assets (RNOA) for Year 9 is equal to:

RNOA = NOPAT/Average NOA
= $117,488/[($1,169,985 + $1,192,666) + 2]
= 9.95%

Return on Common Shareholders’ Equity

Return on common equity typically excludes from invested capital all but common
shareholders’ equity. The return on common equity of Excell Corporation for Year 9

1 Alternatively, some analysts simply assume a flat marginal corporate tax rate, such as 35%. The implication is that deviations
from this assumed rate are treated as nonoperating revenue (expense).
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is computed as:
Net income — Preferred dividends
Average common shareholders’ equity
$104,148 — $0
($668,305 + $772,454)/2

= 14.46%

As we explain on page 463, ROCE consists of two components: an operating return
(RNOA) and a nonoperating return (the positive or negative effects of financial leverage).
Excell’s higher return on common shareholders’ equity as compared to its return on net
operating assets reflects the favorable effects of financial leverage in this case.

»ausans ANALYZING RETURN ON NET

Return on Net Operating Assets
for Selected Industries

Retail
Pharmaceuticals
Agriculture
Apparel
Communication

Utilities

OPERATING ASSETS

Return on invested capital is useful in management evaluation, profitability analysis, and
planning and control. Our use of return on invested capital for these tasks requires a
thorough understanding of this return measure. This
is because the return measure includes components
with the potential to contribute to an understanding of
company performance. This section examines this return

| when invested capital is viewed from an operating

standpoint, commonly referred to as return on net

I I operating assets (RNOA).

Disaggregating Return on Net

1

Operating Assets

Restaurants

Computers

0%

T
5%

1
10%

15%

20%

Recall that the return on net operating assets (RNOA) is
computed as:

Net operating profit after tax (NOPAT)

Average net operating assets (NOA)

We can disaggregate this return into meaningful components relative to sales. This
disaggregation of return on net operating assets is:
Return on net operating assets = Net operating X Net operating
profit margin  asset turnover

NOPAT  _ NOPAT
Average NOA Sales

Sales
Average NOA

The NOPAT to sales relation is called net operating profit margin (or simply
NOPAT margin) and measures a company’s operating profitability relative to sales.
The sales to net operating assets relation is called the net operating asset turnover
(or simply NOA turnover) and measures a company’s effectiveness in generating sales
from net operating assets. This decomposition highlights the role of these components,
both NOPAT margin and NOA turnover, in determining return on net operating assets
(RNOA). NOPAT margin and NOA turnover are useful measures that require analysis
to gain insights into a company’s profitability. We describe the major components de-
termining return on net operating assets in Exhibit 8.3. The first level of this analysis
focuses on the interaction of NOPAT margin and NOA turnover. The second level of
analysis highlights other important factors determining profit margin and asset
turnover.
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Disaggregating Return on Net Operating Assets Exhibit 8.3

Return on net operating assets (RNOA)

|

[ |

Net operating asset
(NOA) turnover

NOPAT margin X

| First
I level

| |
- e ]e=] -

Net operating Long-term net
| Sales | - | Coits | working capital + operating assets
L |_ — L - Second
Cost of Selling Administrative and level
sales | T expenses + other expenses
Intangibles Pension Other
| | PPE |, |andother | | and [ | LT
|Cash|+|Receivab|es|+|Inventoriesl+ Other —|Payab|es|— Other assets L-T OPEB operating )
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Effect of Operating Leverage

Net operating assets (NOA) are reduced by increases in operating liabilities, thus in-
creasing net operating asset turnover. Provided that the increase in operating liabilities
does not affect NOPAT, RNOA is also increased. The operating liability effect is seen in
this alternate decomposition of RNOA:

NOPAT Sales

= X
RNOA Sales x Average OA (1+ OLLEYV)

where OA is Operating Assets (gross) and OLLEV (Average Operating liabilities/
Average NOA) is the operating liability leverage ratio. Since OLLEYV is a positive num-
ber, increasing OLLEV increases RNOA.

The intuition behind the equation is this: operating liabilities generally do not entail
a cost if used judiciously. For example, increasing accounts payable by delaying payment
allows the company to use suppliers’ capital which is at low or no cost so long as the
payment is not delayed too much. (At some point, however, the supplier, realizing that
the use of its capital is adding to its cost [that is, receivables, a nonearning asset, are
higher] will exact a higher price for its goods or services or may decide not to sell to the
company altogether.) The result is a reduction in NOA, no increase in NOPAT, and an
increase in RNOA. The firm has, in effect, profited from the use of its suppliers’ capital.
This avoids the need to finance its operating assets with costly debt or equity capital.

Relation between Profit Margin and Asset Turnover

The relation between NOPAT margin and NOA turnover is illustrated in Exhibit 8.4. As
defined, RNOA equals NOPAT margin (in percent) multiplied by NOA turnover. As
Exhibit 8.4 shows, Company X achieves a 10% RNOA with a relatively high NOPAT
margin and a low NOA turnover. In contrast, Company Z achieves the same RNOA



http://downloadslide.blogspot.com

To download more slides, ebooks, solution manual, and test bank, visit http://downloadslide.blogspot.com

456 Financial Statement Analysis
Exhibit 8.4 Analysis of Return on Net Operating Assets
EEEEEEN
Company X Company Y Company Z
SAlBS ..o $5,000,000 $10,000,000 $10,000,000
NOPAT ..o $ 500,000 $ 500,000 $ 100,000
NOA ..o $5,000,000 $ 5,000,000 $ 1,000,000

NOPAT margin 10% 5% 1%
NOA tUINOVET ... 1 2 10
Return on net operating assets.......... 10% 10% 10%

but with a low NOPAT margin and high NOA turnover. Company Y’s margin and
turnover is between these two companies. Namely, Company Y has a 10% RNOA with
a NOPAT margin one-half that of Company X and an NOA turnover double that of
Company X. This exhibit indicates there are many combinations of profit margins and
asset turnovers yielding a 10% RNOA.

Since RNOA is a function of both margin and turnover, it is tempting to analyze a
company’s ability to increase RNOA by increasing profit margin while holding turnover
constant, or vice versa. Unfortunately, the answer is not that simple because the two
measures are not independent. Profit margin is a function of sales (selling price X units
sold) and operating expenses. Turnover is also a function of sales (sales/assets). Conse-
quently, increasing profit margin by increasing selling prices impacts units sold. Also,
reductions of marketing-related operating expenses in an effort to increase profitability
usually impacts product demand. Selling prices, marketing, R&D, production, and a host
of other business areas must all be managed effectively to maximize RNOA.

We can generalize the returns analysis of Exhibit 8.4 to show a continuous range of
possible combinations of profit margins and asset turnovers yielding a constant return
on assets (the solid line in the graph in Exhibit 8.5). Exhibit 8.5 portrays graphically this

Exhibit 8.5 Relation between NOPAT Margin, NOA Turnover, and Return on Net Operating Assets
EEEEEER
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relation between NOPAT margin (horizontal axis) and NOA turnover (vertical axis).
The curve drawn in this exhibit traces all combinations of NOPAT margin and NOA
turnover yielding a constant return on net operating assets. This curve slopes from the
upper left corner of low NOPAT margin and high NOA turnover to the lower right
corner of high NOPAT margin and low NOA turnover. We plot the data from
Companies X and Y (from Exhibit 8.4) in Exhibit 8.5—designated points X and Y,
respectively. The remaining points A through P are combinations of NOPAT margins
and NOA turnovers of other companies. Graphing returns of companies within an in-
dustry around a constant return on asset curve is a valuable method of comparing prof-
itability. More important, such graphing reveals the relation between NOPAT margin
and NOA turnover determining RNOA and is extremely useful in company analysis.

Disaggregating return on net operating assets as in Exhibit 8.5 provides insights in
assessing companies’ strategic actions to increase returns. For example, Companies B
and C must concentrate on restoring profitability. Moreover, assuming the industry
represented in Exhibit 8.5 has a representative NOPAT margin and NOA turnover, the
evidence suggests Company P should focus on improving NOA turnover while
Company A should focus on increasing NOPAT margin. Other companies like H and I
should best concentrate on both NOPAT margin and NOA turnover.

Analysis of return on assets can reveal additional insights into strategic activity. As an
example, consider two companies in the same industry with identical returns on net
operating assets.

Company AA Company BB
SAlES ..o, $ 1,000,000 $20,000,000
INCOME e $ 100,000 $ 100,000
ASSEES oo $10,000,000 $10,000,000
NOPAT Margin .......ccccocvvverernisininn. 10% 0.5%
NOA tUrNOVET ..o, 0.1 2.0

Return on net operating assets 1% 1%

Both companies’ returns on net operating assets are poor. Yet, the strategically correc-
tive action for each is different. Our analysis of such cases must evaluate the likelihood
of managerial success and other factors in improving performance. In particular, Com-
pany AA has a 10% NOPAT margin while Company BB’s is considerably lower. On the
other hand, a dollar invested in assets yields only $0.10 in sales for Company AA,
whereas Company BB achieves $2 in sales for each dollar invested. Accordingly, one
part of our analysis focuses on Company AA’s assets, asking questions such as: Why is
turnover so low? Are there assets yielding little or no return? Are there idle assets re-
quiring disposal? Are assets inefliciently or ineffectively utilized? We would expect that
Company AA can achieve immediate improvements by concentrating on increasing
turnover (by increasing sales, reducing investment, or both). It is likely more difficult for
Company AA to increase profit margin much beyond the industry norm.

Company BB confronts a much different scenario. Our analysis suggests Company
BB should focus on correcting its low profit margin. Reasons for low profit margins are
varied but often include inefficient production methods, unprofitable product lines, ex-
cess capacity with high fixed costs, or excessive selling and administrative expenses.
Companies with low profit margins sometimes discover that changes in tastes and tech-
nology require increased investment in assets to finance sales. This implies that to main-
tain its return on assets, a company must increase its profit margin or else production is
no longer moneymaking.
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There is a tendency to view a high profit margin as a sign of good operating perfor-
mance. Yet we must emphasize the importance of return on invested capital (however de-
fined) as the ultimate test of profitability. A supermarket is content with a NOPAT margin
of 1% to 2% because of its high NOA turnover owing to a relatively low asset investment.
Similarly, a discount store accepts a low NOPAT margin to generate high asset turnover
(primarily in inventories). In contrast, capital-intensive industries like steel, chemicals, and
automobiles having large asset investments and low NOA turnovers must achieve higher
NOPAT margins to be successful. Exhibit 8.6 portrays graphically the relation between
NOPAT margin and NOA turnover for several industries. We graph the 10.3% return on
assets curve in Exhibit 8.6 because it is the median for publicly traded companies.

Exhibit 8.6 Net Operating Asset Turnover and Net Operating Profit Combinations for a Given RNOA
EEEEEER
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We must remember that analysis of returns for a single year is potentially misleading.
The cyclical nature of many industries yields swings in profit margins where some
years’ profits can be excessive while others are not. Companies must be analyzed using
returns computed over several years and spanning a business cycle.

Disaggregation of Profit Margin

Operating profit margin (OPM) is defined as

Net operating profit after tax (NOPAT)
Sales

The operating profit margin is a function of the per-unit selling price of the product or
service compared with the per-unit costs of bringing that product or service to market
and servicing customer needs after the sale. For analysis purposes, it is useful to disag-
gregate pretax profit margin (PM) into its components:

Pretax PM = Pretax sales PM + Pretax other PM

Gross margin ~ Selling expense ~ Administration expense  R&D

Pretax sales PM = Sales Sales Sales Sales

Equity income  Special items
Pretax other PM =

Sales - Sales
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Following are several areas of importance in our analysis of profitability.

Gross Profit. Gross profit (or gruss margin) is measured as revenues less cost of sales. It
is frequently reported as a percent ( gross profit percent), computed as gross profit divided
by sales. The gross profit, or gross profit percent, is a key performance measure. All
other costs must be covered by gross profit, and any income earned is the balance
remaining after these costs. Also, gross profit must be sufficiently large to finance
essential future-directed discretionary expenditures like research and development,
marketing, and advertising. Gross profits vary across industries depending on factors
like competition and differences in the factors of production (production wage rates,
costs of raw materials, levels of capital investment, and the like).

Analyzing changes in sales and cost of sales is useful in identifying major drivers of
gross profit. Changes in gross profit often derive from one or a combination of the
following:

e Increase (decrease) in sales volume.
e Increase (decrease) in unit selling price.
e Increase (decrease) in cost per unit.

Interpreting the results of an analysis of changes in gross profit requires identifying the
major factors responsible for these changes. Moreover, we often extend the analysis to
focus on strategic activities to remedy or improve gross profit (through volume, price,
or cost). For example, if we determine the reason for a decrease in gross profit is a
decline in unit selling prices, and this reflects overcapacity in the industry and price
cutting, then our analysis of the company is pessimistic given management’s lack of
potential strategic responses. However, if the reason for a decrease in gross profit is an
increase in unit costs, then our analysis is more optimistic yielding a wider range of
potential strategic responses for management.

When interpreting cost of sales and gross profit, especially for comparative analysis,
we must direct attention to potential distortions arising from accounting methods. Even
though this is applicable to all cost analysis, it is especially important with inventories
and depreciation accounting (recall that depreciation expense relating to production
equipment is a component of cost of goods sold). These two items merit special atten-
tion because they represent costs that are usually substantial in amount and subject to
alternative accounting methods that can markedly affect their measurement.

Selling Expenses. The importance of the relation between selling expenses and rev-
enues varies across industries and companies. In certain companies, selling expenses are
primarily commissions that are highly variable, while in others they are largely fixed.
Our analysis must attempt to distinguish between these variable and fixed components,
which can then be usefully analyzed relative to revenues.

When selling expenses as a percentage of revenues show an increase, we should
focus attention on the increase in selling expense generating the associated increase in
revenues. Beyond a certain level of selling expenses, there are lower marginal increases
in revenues. This can be due to market saturation, brand loyalty, or increased expense
in new territories. It is important for us to distinguish between the percentage of selling
expenses to revenues for new versus continuing customers. This has implications for
forecasts of profitability. If a company must substantially increase selling expenses to
increase sales, its profitability is limited or can decline.

Certain sales promotion expenses, particularly advertising, yield current azd future
benefits. Measuring future benefits from these expenses is extremely difficult. Expenditures
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for future-directed marketing activities are largely discretionary, and our analysis must
consider year-to-year trends in these expenditures. Beyond the ability of these
expenditures to influence future sales, they provide insights into management’s tendency
to “manage” reported earnings.

General and Administrative Expenses. Most general and administrative expenses are
fixed, largely because these expenses include items like salaries and rent. There is a
tendency for these expenses to increase, especially in prosperous times. When analyz-
ing these expenses, our analysis should direct attention at both the trend in these
expenses and the percentage of revenues they consume.

Disaggregation of Asset Turnover

The standard measure of asset turnover in determining return on assets is:

Sales
Average Net Operating Assets

Further evaluation of component changes in turnover rates for individual assets can be
useful in a company analysis. This section examines asset turnover for component asset
and liability accounts.

Asset turnover measures the intensity with which companies utilize assets. The most
relevant measure of asset utilization is sales, since sales are essential to profits. In special
cases like start-up or development companies, our analysis of turnover must recognize
that most assets are committed to_fuzure business activities. Also, unusual supply prob-
lems or work stoppages are conditions affecting asset utilization and require special
evaluation and interpretation. This section describes various analyses using disaggrega-
tion of asset turnover.

In general, turnover rates reflect the relative productivity of assets, that is, the level of
sales volume that we derive from each dollar invested in a particular asset. All things
equal, we prefer higher turnover rates for assets than lower (the reverse is true for
liabilities). This generalization must be viewed with caution, however. We can increase
turnover rates by lowering our investment in assets, but this might be counterproduc-
tive. Consider, for example, if we choose to reduce the amount of credit we grant to our
customers. At some point we will lose sales, and any benefits we derive from the lower
levels of receivables will be offset by a decline in sales. The same argument holds for
inventories. We need a certain level of inventories to support our current level of sales.
Any less and we run the risk of stock-outs and lost sales. So, our investment in assets
must be gptimized, not necessarily minimized.

Accounts Receivable Turnover. The accounts receivable turnover rate is defined as
follows:

Accounts receivable turnover = Sales/Average accounts receivable

Receivables are an asset that must be financed at some cost of capital. In addition,
receivables entail collection risk and require additional overhead in the form of credit
and collection departments. From this perspective, reducing the level of receivables
lessens these costs. If we reduce receivables too much with an overly restrictive credit
policy, however, the reduction adversely impacts sales. Receivables must, therefore, be
effectively managed.
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An alternate view of accounts receivable turnover is the average collection
period, which follows:

Average collection period = Accounts receivable/Average daily sales

This metric reflects how long accounts receivable are outstanding, on average. In
general, the lower the receivables turnover rate, the higher the average collection period.

Inventory Turnover. The inventory turnover rate is computed as follows:
Inventory turnover = Cost of goods sold/Average inventory

This ratio uses cost of goods sold (COGS) as the measure of sales volume because the
denominator, inventory, is reported at cost, not retail. Accordingly, both the numerator
and denominator are measured at cost. A decline in the inventory turnover ratio often
indicates that the firm’s products are uncompetitive, perhaps because of a style that is
out of fashion or noncurrent technology. In addition, inventories must be financed at
some cost and they yield additional costs in the form of insurance, storage, logistics,
theft, and the like. Companies want enough inventory to meet customer demand with-
out stock-outs, and no more.

Like the average collection period, an alternate view of the inventory turnover rate
follows:

Average inventory days outstanding = Inventory/Average daily cost of goods sold

The average inventory days outstanding gives us some indication of the length of time
that inventories are available for sale. We want the average inventory days outstanding
to be as short as possible. This can be accomplished by minimizing raw materials
through production management techniques, like just-in-time deliveries, or the reduc-
tion of work-in-progress inventory from use of efficient production processes that elim-
inate bottlenecks. In addition, companies desire to minimize finished goods inventory
by producing to order, not to estimated demand, if possible. These management tools
increase inventory turnover and reduce the inventory days outstanding.

Long-Term Operating Asset Turnover. Long-term operating asset turnover is
computed as follows:

Long-term operating asset turnover = Sales/Average long-term operating assets

Capital intensive industries, such as manufacturing companies, require large investments
in long-term assets. Accordingly, such companies have lower long-term operating asset
turnovers than do less capital intensive companies, like service businesses. Long-term
operating assets must be financed at some cost of capital. In addition, they must be
insured and maintained. Moreover, since investment capital is a finite resource, every
dollar invested in long-term operating assets is one dollar less that can be invested in
other more quickly turning earning assets. For these reasons, companies desire to mini-
mize the investment in long-term operating assets required to generate a dollar of sales.

The long-term operating asset turnover rate can be increased by either increasing
the numerator by increasing throughput (sales) or by reducing the denominator. Re-
ducing long-term operating assets is a difficult process. Aside from outright disposal of
underutilized assets, many companies have attempted to reduce their investment in
long-term operating assets by acquiring them together with other companies. Corpo-
rate alliances, joint ventures, and special purpose entities (discussed in Chapter 3) are
some of the techniques that are effectively used to reduce investment in long-term
operating assets.
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Accounts Payable Turnover. Current operating assets like inventories are financed in
large part by accounts payable. Such payables usually represent interest-free financing
and are, therefore, less expensive than using borrowed money to finance inventory
purchases or production. Accordingly, companies use trade credit whenever possible.
This is called leaning on the trade. The accounts payable turnover rate is computed as:

Accounts payable turnover = Cost of goods sold/Average accounts payable

Like inventories, payables are reported at cost, not retail prices. Thus, for consistency
with the denominator, cost of goods sold (not sales) is used in the numerator. All else
equal, companies prefer to utilize this cheap source of financing as much as possible
and, therefore, have a lower accounts payable turnover rate (meaning a higher level of
payables). Lowering the accounts payable turnover rate is accomplished by delaying
payment to suppliers, and this delay in payment can damage relations with the supplier
if used excessively. Payables, therefore, must be managed carefully.

A metric analogous to accounts payable turnover is the average payable days
outstanding, which follows:

Average payable days outstanding = Accounts payable/Average daily
cost of goods sold

A lower accounts payable turnover rate corresponds to a higher average payable days
outstanding.

Net Operating Working Capital Turnover. Net operating working capital is equal to
operating current assets less operating current liabilities. Net operating working capital
is an asset that must be financed just like any other asset. Consequently, companies de-
sire to gptrmize investment in this asset. The operating working capital turnover rate is
computed as follows:

Net operating working capital turnover = Net sales/Average net operating
working capital

Companies generally desire a higher net operating working capital turnover rate than a
lower one, all else equal, because a higher operating working capital turnover reflects
less investment in working capital for each dollar of sales. Net operating working capi-
tal turns more quickly as receivables and inventories turn more quickly, and it also turns
more quickly when companies lean on the trade (when payables turn more slowly).
Thus, turnover of net operating working capital improves as a result of proper manage-
ment of its components.

=ausunsANALYZING RETURN
ON COMMON EQUITY

Return on common shareholders’ equity (ROCE), or simply return on common
equity, is of great interest to the shareholders of a company. Creditors usually receive a
fixed return on their financing. Preferred shareholders usually receive a fixed dividend.
Yet common shareholders are provided no fixed or promised returns. These sharehold-
ers have claims on the residual earnings of a company only after all other financing
sources are paid. Accordingly, the return on shareholders’ equity is most important to
common shareholders. The relation between return on shareholders’ equity and return
on net operating assets is also important as it bears on the analysis of a company’s
success with financial leverage.
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Return on common shareholders’ equity serves a key role in equity valuation. Recall
the accounting-based stock valuation formula from Chapter 1:

NL,; — ('é X BV;) NL,, — ('é X BV,y)

V=BV % 1+ 4)

where /7 is company value, B/ is book value of stockholders’ equity, NI is net income,
and % is cost of equity capital (the return that shareholders expecs to earn on their
investment). Through algebraic simplification, the formula can be restated in terms of
future returns on common shareholders’ equity (ROCE):

(ROCEt+1 B é)BV, (ROCEt+2 B é)BVtﬂ

V=BV 0% * REW3E

where ROCE is as defined above. This formula is intuitively appealing. Namely, it im-
plies that companies with expected ROCE greater than the investors’ required rate of
return (%) increase value in excess of that implied by book value alone.

Disaggregating the Return Return on Equity for Selected Industries
on Common Equity Computers

Restaurants

While ROCE in the above formula is computed using
the beginning-of-period balance of common equity, in Utilities

|
practice we use the zverage balance for the period under .
Communication
|
|
|

analysis. As with return on net operating assets, disag-
gregating return on common equity into components is
extremely useful for analysis purposes. Recall that the Agriculture
return on common shareholders’ equity is computed as:

Apparel

Pharmaceuticals

Net income — Preferred dividends Retail

Average common shareholders’ equity 0% 5:,/ 1 OI‘V 159% 20%

We can disaggregate return on common shareholders’ equity to obtain:?
ROCE = RNOA + (LEV x Spread)

where RNOA is the return on net operating assets, as defined above, and the second
term (LEV X Spread) is the effect of financial leverage. The first component of the
financial leverage effect is the degree of financial leverage (LEV), measured by the

2 An alternate view of the ROCE disaggregation is provided by the following equivalent equation:

ROCE = Adjusted profit margin x Asset turnover x Leverage

Net income — Net income — Average

Preferred dividends _ Preferred dividends Sales assets

Average Sales Average Average
common equity assets common equity

For Excell Corporation, the ROCE for Year 9 can alternatively be computed as follows:
_$104,148 $1,782,254 ($2,120,735 + $2,314,492)/2

" $1,782,254 " ([$2,120,735 + $2,314,492)/2) ($668,305 + $772,454)/2
14.46% = 5.844% < 0.804 X 3.078

ROCE
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relative amounts of net financial obligations and stockholders’ equity used by the com-
pany to finance its net operating assets. The second component is the spread, the
return on net operating assets (RNOA) less the net financial return (NFR), where NFR
is the average net return on financial (nonoperating) liabilities and assets. NFR is
computed as the net financial expense (NFE) divided by the average net financial
obligations (NFO) outstanding during the year. Just as NFO includes interest-bearing
liabilities, less marketable securities and other nonoperating assets (such as discontinued
operations and other nonstrategic investments), so does NFE include interest expense,
less investment returns on marketable securities. Further, just as NFO can be either
positive (reflecting more nonoperating liabilities than nonoperating assets) or negative
(reflecting more nonoperating assets than nonoperating liabilities), so can NFE be
positive (reflecting more interest expense than investment returns) or negative (reflect-
ing more investment returns than interest expense). Specifically, the terms used in the
equation above are defined as follows:

Term Definition

LEV (financial leverage) .........ccoovvvvevvvernnne Average NFO/Average equity

NFO (net financial obligations) ...................... Interest-bearing liabilities less marketable securities and other
nonoperating assets (or NOA — Equity)

SPrEAU. ... RNOA-NFR

NFR(net financial rate)........ccccccovovveveverennnne NFE/Average NFO

NFE (net financial expense)..........cccccvveveneae Interest expense less investment returns from nonoperating assets

The effect of financial leverage (LEV) on ROE can be summarized as follows: finan-
cial leverage increases ROE so long as the spread is positive. Simply put, if a company
can earn a higher return on net operating assets than the cost of debt that finances those
assets, the excess return accrues to the benefit of its shareholders. All else equal, then,
its shareholders would be better off continuing to employ lower-cost debt as the com-
pany expands than to finance that expansion with higher-cost equity capital (only up to
a certain level, of course, as continued issuance of debt is risky).

Return on common equity (ROCE) consists of both an operating component
(RNOA) and a nonoperating component (LEV X Spread). This operating and nonop-
erating distinction is important for several reasons:

* The vast majority of companies provide goods and services to customers as their
primary business. This is where their expertise lies. Although finance divisions in
companies are staffed with highly competent personnel, we want those companies
to excel in their core competencies, and not to have poor operating performance
masked by good financial performance.

¢ Operating activities have the most pronounced and long-lasting effects on com-
pany value. Research confirms that the stock price multiple on operating earnings
is many times that on financial earnings.

e Although companies can realize an increase in ROE through judicious use of
financial leverage, debt payments (interest and principal) are contractual obliga-
tions that must be met in good times and in bad. Increasing debt, therefore,
increases the risk of default should cash flows decline, and default can have disas-
trous consequences for the firm, including bankruptcy.

It is for these reasons that analysts are vitally concerned about the proportion of ROCE
that accrues from operating activities and that which results from an increase in finan-
cial leverage.
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For Excell Corporation, the components of ROCE disaggregation for Year 9 follow:

RNOA ..o 9.95% (from page 453 above)
~ ($501,680 + $420,212)/2

LEV (A NFO/A E) oo b4 =
(Average NFO/Average SE) 0.6 (668,305 + $772.450)2
. $20,843 x (1 -10.36)
NFR (NFE/Average NFO) .....ccoocovionrvvciinrnicnnn, 2.90% = (501,680 + $420.212)2
Spread (RNOA — NFR)......oovvervevreerecins 7.05% = (9.95% — 2.90%)
ROCE (RNOA + [LEV X Spread]).................. 14.46% = 9.95% + (0.64 X< 7.05%)

ROCE using the standard definition is 14.46%, computed as [(%68?318;1‘1;183;7772?254) /2} per

above. For Excell Corporation, 69% (9.95%/14.46%) of its ROCE is derived from
operating activities (RNOA). The average for publicly traded firms is about 84%
(Nissim and Penman, 2001). Excell is, therefore, relying relatively more than usual on
nonoperating activities to achieve its current level of ROCE.

Return on nonoperating activities is a function of the degree of financial leverage
and the spread. The degree of financial leverage is generally under the control of the
company. It can decide the relative proportions of debt and equity in its capital struc-
ture and the amount of liquidity (excess cash invested in marketable securities) that it
maintains.

Spread is a function of the interest rate on debt and investment returns. Both of these
can be examined separately as follows:

NFE/NFO = (Net interest rate X FL./NFO) — (Return on financial assets X FA/NFO)

where FL and FA are financial liabilities and financial assets, respectively. Most compa-
nies borrow money on fixed rates of interest (or utilize swaps and other derivative
instruments to convert floating rate borrowings to fixed). The interest rate portion of
NFE is, therefore, likely to be relatively fixed. The investment return portion, however,
is likely to fluctuate with swings in the capital markets. An increased spread which
arises from a boom market will not be sustained, and the resulting increase in ROCE
should not be given as much weight in our analysis as will an increase resulting from
more persistent operating returns.

ANALYSIS VIEWPOINT ... YOU ARE THE CONSULTANT

You are the management consultant to a client seeking a critical review of its perfor-
mance. As part of your analysis you compute ROCE and its components (industry
norms in parenthesis): asset turnover = 1.5 (1.0); leverage = 2.1 (2.2); pretax ad-
justed profit margin = 0.05 (0.14); and retention rate = 0.40 (0.24). What does your
preliminary analysis of these figures suggest?

Computing Return on Invested Capital

This section applies our analysis of return on invested capital to the financial statements
of Campbell Soup Company reproduced in Appendix A.
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Return on Net Operating Assets (RNOA)

Campbell Soup’s net operating assets (NOA) for years 11 and 10 are computed as
follows ($ millions):

CAMPBELL SOUP NET OPERATING ASSETS (NOA)

Year 11 Year 10
CaSN oo $ 1789 $ 807
Accounts receivable.........cccccooeevveveernnne. 527.4 624.5
INVENTOTIES ..o 706.7 819.8
Prepaid eXpenses..........ccoeveveierrereereiennnn. 92.7 118.0
Property, plant, & equipment ..................... 1,790.4 1,717.7
Intangible assets 435.5 383.4
Other assets........ 404.6 349.0
Accounts payable (482.4) (525.2)
Accrued liabilities ..........ccooeverrsirnineinnns (408.7) (491.9)
Taxes payable..........cocooeveviiininininie (67.7) (46.4)
Other liabilities ........ccocoovveevcerierseees (305.0) (319.9)
Net operating assets..........coooevrvvevverrernns $2,872.4 $2,709.7

Its net financial obligations are computed as follows ($ millions):

CAMPBELL SOUP NET FINANCIAL OBLIGATIONS (NFO)

Year 11 Year 10
Notes payable..........cooc...ooeerveerercrveeeeereennn. $ 2822 $ 202.3
Dividend payable........ccccooumireinrirnirriinns 37.0 32.3
Long-term debt ........cooovveieii, 772.6 805.8
Marketable securities........ccocovievrcrriennee. (12.8) (22.5)
Net financial obligations..............ccooo......... $1,079.0 $1,017.9

The operating accounting identity holds as follows ($ millions):

Net operating Net financial Stockholders’
assets = obligations +  equity
(NOA) (NFO) (SE)
Year 11.......... 2,872.4 = 1,079.0 + 1,793.4
Year 10.......... 2,709.7 = 1,017.9 + 1,691.8

Campbell Soup’s net operating profit after tax (NOPAT) is computed as follows ($ millions):

Effective tax rate ........ 39.8% = $265.9/$667.4
NOPAT ..o, $460.4 = ($6,204.1 — $4,095.5 — $956.2 — $306.7 — $56.3 — $0.8
— $26.2 + $2.4) X (1—39.8%)

Campbell Soup’s return on net operating assets (RNOA) for Year 11 is ($ millions),

$460.4

= 16.5%
(28724 + $2,7007)/2  163%
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Disaggregated Return on Net Operating Assets

We can disaggregate Campbell’s Year 11 return on net operating assets (RNOA) into its
operating profit margin and net operating asset turnover components:

Return on net operating assets = Operating profit margin X Net operating asset turnover

_ NOPAT Sales
Sales Average net operating assets
16.5% = 34604 X $6204.1 =742% X 2.22

$6,204.1 ~ ($2,872.4 + $2,709.7)/2

Return on Common Equity

Campbell Soup’s return on common shareholders’ equity for Year 11 is computed as
follows ($ millions and includes reference codes to Campbell’s relevant financial state-
ment items):

ROCE — Net income — Preferred dividends

Average common equity

$401.5[28]— $0 _ $4015

= = 00
[(S17934) + ($16918)]2564] L7426 =%

Disaggregated Return on Common Equity

Campbell Soup’s ROCE, computed as a function of RNOA, financial leverage, and
spread is as follows ($ millions):

RNOA 16.5% (above)

LEV  0.6% = [($1,079.0 + $1,017.9)/2]/[($1,793.4 + $1,691.8)/2]
NFR  5.6% = ($460.4 — $401.5)/[($1,079.0 + $1,0179)/2]
Spread 10.9% = 16.5% — 5.6%

ROCE 23% =16.5% + (0.60 X 10.9%)

Campbell Soup’s RNOA is further disaggregated into its margin and turnover compo-
nents as follows ($ millions):

RNOA NOPAT margin % NOA turnover
(NOPAT/Sales) (Sales/Average NOA)
16.5% 7.4% 2.22

X
($460.4/$6,204.1) $6204.1/(12,872.4 + $2,709.71/2)

The third level analysis proceeds with the computation of individual revenue and
expense items as a percent of sales. For Year 11, the common size income
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statement follows:

Gampbell Soup Company Gommon Size
Income Statement

SAIBS v s
Cost of g200dS SOId..........cvvveeverererereeee e

GrosS Profit .......coooovereeirirsereee e
Marketing & selling expenses
Administrative eXpenses .........cccoeveveveveeererenerereeens

Research & development eXpenses ..........cccccovvevveeenee. 0.9
Operating profit........cccoooevveveeicieccee e 12.8
Interest BXPENSE ......cvvvvreeeececec e 1.9

Interest iNCOME .......cooevvreeeeccecce e —0.4
Foreign exchange l0SSeS.........covvevveevvcvieeevereeeesnenns 0.0
Other BXPENSE.....cvevecveeeeceeeee et 0.4
SPECial IHBMS ... 0.0

10.9
Equity earnings in affiliates........ccocovevvrveveveerennn. 0.0
Minority interests .......ooveeeverveevcereseeeee e —0.1
Earnings before taxes........cc.coocvrvveinrinirnieersien. 10.8
TaX BXPENSE ...ttt ss st naeaas

Net earnings

Accounts receivable turnover (Sales/Average accounts receivables) .........cccoovevveevevrnnnn. 10.772
Average collection period (Accounts receivable/Average daily sales).........cccocovvevvvevevnnnne. 31.03°
Inventory turnover (Cost of goods sold/Average inVENtories).......coovevvvvecvrvevesvsieninnens 5.37¢
Average inventory days outstanding (Inventories/Average daily cost of goods sold)............ 62.98¢
Long-term operating asset turnover (Sales/Average long-term operating assets)............... 2.44¢

3($6,204.1/([$527.4 + $624.51/2))

5($527.4/(1$6204.1/3650)

%($4,095.5/([$706.7 + $819.81)/2)

9$706.7/($4,095.5,/365))

¢($6,204.1/([$1,790.4 + $435.5 + $404.6] + [$1,717.7 + $383.4 + $349.01)/2)

We conduct a comparative analysis of these ratios across time in the section on
analysis of return on invested capital for the Comprehensive Case chapter. An analysis
of return on invested capital measures across time is often revealing of company per-
formance. If ROCE declines, it is important for us to identify the component(s) re-
sponsible for this decline to better assess past and future company performance. We can
also then better assess areas of greatest potential improvement in ROCE and the likeli-
hood of a company successfully pursuing this strategy. For example, if leverage cannot
be prudently increased our analysis focuses on operating profit margin and net operat-
ing asset turnover. An analysis of company strategies and the potential for improve-
ments also depends on industry and economic conditions. We pursue answers to ques-
tions such as: Is operating profit margin high or low in comparison with the industry?
What is the potential improvement in net operating asset turnover in this industry?
Evaluating returns using the structured approach described in this chapter and inter-
preting them in their proper context can greatly aid our analysis.
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Analysis Research
EEEEEEN

RETURN ON

COMMON SHAREHOLDERS’ EQUITY

How does a company’s return
on common shareholders’ equity
(ROCE) behave across time? Do cer-
tain companies consistently have
high or low ROCE? Do companies’
ROCEs tend to move toward an
average ROCE!? Analysis research
has addressed these important ques-
tions. Oz average, a company’s
ROCE for the current period is a

good predictor of its ROCE for the
next period. However, as the time
horizon increases, a company’s
ROCE tends to converge toward the
average industry ROCE. This is usu-
ally attributed to the effects of com-
petition. Companies that are able to
sustain high ROCEs typically com-
mand large premiums over book
value.

A large portion of the variability
in companies’ ROCEs is due to
changes in RNOA. This is because,
on average, leverage factors do not
vary significantly over time. Finally,
disaggregating net income into
operating and nonoperating com-
ponents improves forecasts.

Assessing Growth in Common Equity
Equity Growth Rate

We can assess the common equity growth rate of a company through earnings reten-
tion. This analysis emphasizes equity growth wihout resort to external financing. To
assess equity growth, we assume earnings retention @zd a constant dividend payout
over time. The equity growth rate is computed as:

Net income — Preferred dividends — Common dividends
Average common equity

Equity growth rate =

The equity growth rate for Year 11 of Campbell Soup, using its financial statements
reproduced in Appendix A, is computed as:

$401.5[28] — $0 — $142.2[89]
($1,793.4 + $1,691.8) + 2[54]

This measure implies that Campbell Soup can grow 14.9% per year without increasing
its current level of financing and assuming a continuation of current levels of profitabil-
ity and common stock dividends.

14.9% =

Sustainable Equity Growth Rate

The sustainable equity growth rate, or simply sustainable equity growth, recognizes
that internal growth for a company depends on do#: earnings retention and the return
earned on the earnings retained. Specifically, the sustainable equity growth rate is
computed as:

Sustainable equity growth rate = ROCE X (1 — Payout rate)

For Campbell Soup Company, we find the dividend payout rate for Year 11 equals 35%
($142.2/$401.5). We then compute Campbell Soup’s sustainable equity growth rate for
Year 11 as:

14.95% = 23% X (1 — 0.35)

When estimating future equity growth rates it is often advisable to average (or other-
wise recognize) sustainable growth rates for several recent years. We should also recog-
nize potential changes in earnings retention and forecasted ROCE.
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...« APPENDIX 8A CHALLENGES
OF DIVERSIFIED COMPANIES

The analysis of financial statements of diversified companies must separate and inter-
pret the impact of individual business segments on the company as a whole. This is
challenging because different segments or divisions can experience varying rates of
profitability, risk, and growth opportunities. Their existence is an important reason
why our analysis requires considerable detailed information by business segment. Our
evaluation, projection, and valuation of earnings requires this information be separated
into segments sharing characteristics of variability, growth, and risk. Asset composi-
tion and financing requirements of segments often vary and demand separate analysis.
A creditor is interested in knowing which segments provide cash and which use it.
The makeup of investing and financing activities, the size and profitability of seg-
ments, and the performance of segment management provide important information.
We show in Chapter 11 that income forecasting benefits from forecasting by
segments.

REPORTING BY SEGMENTS

Information reported on operating results and financial position by segments varies. Full
disclosure would provide detailed income statements, balance sheets, and statements of
cash flow for each important segment. However, full disclosure by segments is rare in
practice because of difficulties in separating segments and management’s reluctance to
release information that can harm its competitive position.

Regulatory agencies have established reporting requirements for industry seg-
ments, international activities, export sales, and major customers. Evaluating risk and
return is a major objective of financial statement analysis, and practice recognizes the
value of segment disclosures in this evaluation. Analysis of companies operating
across industry segments or geographic areas, which often have different rates of
profitability, risk, and growth, is aided by segment data. These data assist us in ana-
lyzing uncertainties affecting the timing and amount of expected cash inflows and
outflows.

Practice considers a segment significant if its sales, operating income (or loss), or
identifiable assets are 10% or more of the combined amounts of all the company’s op-
erating segments. To ensure that these segments constitute a substantial portion of a
company’s operations, the combined sales of all segments reported must be at least 75%
of the company’s combined sales. For each segment, companies must report selected
annual financial information (see SEAS 131) including: (1) sales—both to other segments
and to external customers; (2) operating income-revenues less operating expenses;
(3) identifiable assets; (4) interest and tax expenses or benefits; (5) special items’ gains
and losses; and (6) depreciation, depletion, and amortization expense. Additionally, if a
company derives 10% or more of revenues from sales to a single customer, revenues
from this customer must be reported. The SEC also requires a narrative description of
the company’s business by operating segments such as information on competition,
customer dependence, principal products and services, backlogs, sources and availabil-
ity of raw materials, patents, research and development costs, number of employees,
and the seasonality of its business.


http://downloadslide.blogspot.com

To download more slides, ebooks, solution manual, and test bank, visit http://downloadslide.blogspot.com
471

Chapter Eight | Return on Invested Capital and Profitability Analysis

ANALYSIS IMPLICATIONS
OF SEGMENT REPORTS

Diversified companies, and the loss of identity for subsidiary companies in consolidated
financial statements, create challenges for analysis. While segment information is avail-
able, our analysis must be careful in using this information for profitability tests. The
more specific and detailed segment information is, the more dependent it is on
accounting allocations of revenues and expenses. Allocation of common costs as
practiced in internal accounting is often based on notions of fairness, reasonableness, and
acceptability to managers. These notions are of little relevance to our profitability analy-
sis. Allocations of joint expenses are often arbitrary and limited in their validity and pre-
cision. Examples are research and development costs, promotion expenses, advertising
costs, interest, pension costs, federal and state income taxes, and general and administra-
tive costs. There are no accepted principles in allocating or transferring costs of one seg-
ment to another. We must recognize these limitations when relying on segment reports.
Segment reports are and must be analyzed as “soft” information—information subject
to manipulation and preinterpretation by management. It must be treated with uncer-
tainty, and inferences drawn from these data must be subjected to alternative sources of
verification. Nevertheless, segment data supported by alternative evidence can be
extremely useful for analysis. Specifically, segment data can aid our analysis of:

o Sales growth. Analysis of trends in sales by segments is useful in assessing prof-
itability. Sales growth is often the result of one or more factors including: (1) price
changes, (2) volume changes, (3) acquisitions/divestitures, and (4) changes in
exchange rates. A company’s Management’s Discussion and Analysis section
usually offers insights into the causes of sales growth.

o Asset growth. Analysis of trends in identifiable assets by segments is relevant for our
profitability analysis. Comparing capital expenditures to depreciation can reveal
the segments undergoing “real” growth. When analyzing geographic segment
reports, our analysis must be alert to changes in foreign currency exchange rates
that can significantly affect reported values.

* Profitability. Measures of operating income to sales and operating income to
identifiable assets by segment are useful in analyzing profitability. Due to limitations
with segment income data, our analysis should focus on trends versus absolute levels.

Exhibit CC.1 in the Comprehensive Case chapter reports a summary of segment infor-
mation for Campbell Soup Company. Note 2 of Campbell Soup’s financial statements
also reports geographic area information.

Analysis Research
EEEEmEn USEFULNESS OF SEGMENT DATA
Analysis research provides evidence are subject to different economic fac-  shows that the introduction of

that segment disclosures are useful
in forecasting future profitability. We
know that total sales and earnings of
a company equals the sum of the
sales and earnings of all segments
(less any intercompany transac-
tions). As long as different segments

tors, the accuracy of segment-based
forecasts should exceed that of fore-
casts based on consolidated data.
Combining company-specific seg-
ment data with industry-specific fore-
casts improves the accuracy of sales
and earnings forecasts. Evidence

segment reporting requirements in-
creased the accuracy and reduced the
dispersion of earnings forecasts made
by professional securities analysts.
This implies that our profitability
analysis can also benefit from seg-
ment data.
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AUDITOR

Joint analysisis the assessment of one measure of
company performance relative to another. In the
case of our manufacturing client, both ndrvidual
analyses yield percentage changes within the
*+5% acceptable range. However, a joint analysis
would suggest a more alarming situation.
Consider a joint analysis using profit margin (net
income/sales). The client’s profit margin is

11.46% ($2,060,000 — $1,824,000/$2,060,000)

for the current year compared with 5.0%

($2,000,000 — $1,900,000/$2,000,000) for the

prior year—a 129% increase in profit margin! This

is what the audit partner is concerned with, and

encourages expanded audit tests including joint
analysis to verify or refute the client’s figures.

CONSULTANT
Your preliminary analysis highlights deviations
from the norm in (1) asset turnover, (2) pretax

To download more slides, ebooks, solution manual, and test bank, visit http://downloadslide.blogspot.com

GUIDANCE ANSWERS TO ANALYSIS VIEWPOINTS

adjusted profit margin, and (3) retention rate.
Asset turnover for your client is better than
the norm. Your client appears to efficiently use
its assets. One note of warning: we need to be
assured all assets are accounted for and prop-
erly valued, and we want to know if the com-
pany is sufficiently replacing its aging assets.
Your client’s pretax adjusted profit margin is
60% lower than the norm. This is alarming, es-
pecially in light of the positive asset turnover
ratio. Our client has considerably greater costs
than the norm, and we need to direct efforts
to identify and analyze these costs. Retention
rate is also considerably worse than competi-
tors. Our client is paying a greater proportion
of its income in taxes. We need to utilize tax
experts to identify and appropriately plan
business activities with tax considerations in
mind.

QUESTIONS

8-1. How is return on invested capital used as an internal management tool?

8-2. Why s return on invested capital one of the most relevant measures of company performance? How do we
use this measure in our analysis of financial statements?

8-3. Why is interest, expense ignored when computing return on net operating assets (RNOA)?

8-4. Discuss the motivation for excluding “nonproductive” assets from invested capital when computing
return. What circumstances justify excluding intangible assets from invested capital?

8-5. Why must income used in computing return on invested capital be adjusted to reflect the capital base
(denominator) used in the computation?

8-6. What is the relation between return on net operating assets and sales? Consider both NOPAT sales and
sales to net operating assets in your response.

8-7. Company A acquires Company B because the latter has a NOPAT margin exceeding the industry norm. After
acquisition, a shareholder complains that the acquisition lowered return on net operating assets. Discuss
possible reasons for this occurrence.

8-8. Company X's NOPAT margin is 2% of sales. Company Y has a net operating asset turnover of 12. Both com-
panies’ RNOA are 6% and are considered unsatisfactory by industry norms. What is the net operating
asset turnover of Company X? What is the NOPAT margin for Company Y? What strategic actions do you
recommend to the managements of the respective companies?

8-9. What is the purpose of measuring asset turnover for different asset categories?

8-10. What factors (limitations) enter into our evaluation of return on net operating assets?
8-11. How is the equity growth rate computed? What does it measure?
8-12. a. How do return on net operating assets and return on common equity differ?
b. What are the components of return on common shareholders’ equity? What do the components measure?
8-13. a. Equity turnover is sales divided by average shareholders’ equity. What does equity turnover measure?
How is it related to return on common equity? (Hint: Look at the components of ROCE.)
b. “Growth in earnings per share from an increase in equity turnover is unlikely to continue indefinitely.”
Do you agree or disagree with this assertion? Explain your answer and discuss the components of
equity turnover for their impact on earnings.
8-14. What circumstances justify including convertible debt as equity capital when computing return on share-

holders’ equity?
(CFA Adapted)
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EXERCISES

FIT Corporation’s return on net operating assets (RNOA) is 10% and its tax rate is 40%. Its net EXERCISE 8-1
operating assets ($4 million) are financed entirely by common shareholders’ equity. Management Analyzing Financial
is considering its options to finance an expansion costing $2 million. It expects return on net op- Leverage for Alternative

erating assets to remain unchanged. There are two alternatives to finance the expansion: Financing Strategies
1. Issue $1 million bonds with 12% coupon, and $1 million common stock.

2. Issue $2 million bonds with 12% coupon.
Required:

a. Determine net operating income after tax (NOPAT) and net income for each alternative.

b. Compute return on common shareholders’ equity for each alternative (use ending equity).
c. Calculate the assets-to-equity ratio for each alternative.
d

. Compute return on net operating assets and explain how the level of leverage interacts with it in helping deter-
mine which alternative management should pursue.

Roll Corporation’s return on net operating assets (RNOA) is 10% and its tax rate is 40%. Its net EXERCISE 8-2
operating assets ($10 million) are financed entirely by common shareholders’ equity. Manage- Analyzing Returns
ment is considering using bonds to finance an expansion costing $6 million. It expects return on and Strategies of
net operating assets to remain unchanged. There are two alternatives to finance the expansion: Alternative Financing
1. Issue $2 million bonds with 5% coupon and $4 million common stock.

2. Issue $6 million bonds with 6% coupon.
Required:

a. Compute Roll’s current net operating income after tax (NOPAT) and net income.
b. Determine net income and net operating income after tax for each alternative financing plan.
c. Compute return on common shareholders’ equity for each alternative (use ending equity).

d. Explain any difference in the ROCE for the alternative plans computed in (¢). Include a discussion of leverage in
your response.

Selected financial information from Syntex Corporation is reproduced below: EXERCISE 8-3

1. NOA turnover (average NOA equals ending NOA) is 2. D’;“"gg”g””'”gR"’”"’f

2. NOPAT margin equals 5%. Measures for Analyzing
Leverage

3. Leverage ratio (average NFO/average common equity) is 1.786, and the Spread is 4.4%.
Required:
a. Compute return on net operating assets (RNOA).

b. Compute return on common equity using its three major components.

c. Analyze the disaggregation of return on common equity. What is the “leverage advantage (in percent return)
accruing to common equity”?

Refer to the financial data in Case 10-5 (on page 595). In analyzing this company, you feel it is EXERCISE 8-4

important to differentiate between operating success and financing decisions. Disaggregating and
_ Analyzing Return on
Required: Common Equity

a. Explain the difference between ABEX's ROCE in Year 5 and in Year 9. Your analysis should include computation
and discussion of the components determining return on common shareholders’ equity.

b. Explain why ABEX’s earnings per share nearly doubled between Year 5 and Year 9 despite the decline in its return
on common shareholders’ equity.

CHECK
(a) Year 9 ROCE, 9.07%

(CFA Adapted)
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EXERCISE 8-5 Selected financial information for ADAM Corporation is reproduced below:
‘Eq””lyZ"”iR””’m and 1. NOA turnover (average NOA equals ending NOA) is 3.
Wects of Leverage 2. NOPAT margin is 7%.
3. Leverage ratio (average NFO to average common equity) is 1.667, and the Spread is 8.4%.
Required:
a. Compute return on net operating assets (RNOA).
b. Compute return on common equity using its three major components.
c. Prepare an analysis of the composition of return on common equity describing the advantage or disadvantage
accruing to common shareholders’ equity from use of leverage.
EXERCISE 8-6 Rose Corporation’s condensed balance sheet for Year 2 is reproduced below:
fnzzlyzmg Financial Assets
S;verzg;f r,R . Current aSSets.......o.oveeeeeverevereeennenn. $ 250,000
arefotders Retms Noncurrent assets..........ccocecvivernne. 1,750,000
Total @SSELS...vovvveeereeeereeeeeer s, $2,000,000
Liabilities and Equity
Current liabilities.........cccovveivevvenneee. $ 200,000
Noncurrent liabilities (8% bonds)..... 675,000
Common stockholders’ equity............ 1,125,000
Total liabilities and equity................. $2,000,000
Additional Information:
1. Net income for Year 2 is $157,500.
2. Income tax rate is 50%.
3. Amounts for total assets and shareholders’ equity are the same for Years 1 and 2.
4. All assets and current liabilities are considered to be operating.
Required:
a. Determine whether leverage (from long-term debt) benefits Rose’s shareholders. (Hint: Examine ROCE with and
without leverage.)
b. Compute Rose’s NOPAT and RNOA (use ending NOA).
c. Demonstrate the favorable effect of leverage given the disaggregation of ROCE and your answer to part (b).
EXERCISE 8-7 1. Which of the following situations best correspond with a ratio of “sales to average net tangible assets”
Understanding Return exceeding the industry norm? (Choose one answer.)

a. Acompany expanding plant and equipment during the past three years.
b. Acompany inefficiently using its assets.

c. Acompany with a large proportion of aged plant and equipment.

d. Acompany using straight-line depreciation.

Measures (multiple
choice)

2. A measure of asset utilization (turnover) is (choose one answer):
a. Sales divided by average long-term operating assets.
b. Return on net operating assets.
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¢. Return on common equity.
d. NOPAT divided by sales.

3. Return on net operating assets depends on the (choose one answer):

a. Interest rates and pretax profits. c. After-tax operating profit margin and NOA turnover.
b. Debt to equity ratio. d. Sales and total assets.
Return on net operating assets is a function of both profit margin and net operating asset turnover. EXERCISE 8-8
. Predicting the
Required: Components of

How do you believe that knowledge of operating profit margin and operating asset turnover
would contribute to analysis of the reported return on net operating assets for the following com-
panies (that is, if the business reported high return on net operating assets, is it more likely that
operating profit margin is especially high or that operating asset turnover is especially high or
both)? Make your assessments relative to industry norms.

Return on Assets

a. BMW d. Target f. McDonald’s
b. Ford e. Wal-Mart g. Amazon.com
c. Sak’s Fifth Avenue

Two auto dealers, Legend Auto Sales and Reliable Auto Sales, compete in the same area. Both EXERCISE 8-9
purchase autos for $10,000 each and sell them for $12,000 each. Both maintain 10 cars on the lot Analyzing

at all times. A local basketball legend owns Legend Auto Sales. As a result, Legend sells 100 cars Return on Assets
each year, while Reliable sells only 50 cars each year. The dealerships have no other revenues or

expenses.

Required:

The town banker has denied Reliable Auto Sales a loan because its return on net operating assets
is inferior to its rival. The owner of Reliable Auto Sales has engaged you to help explain why its
return on net operating assets is inferior to that of Legend Auto Sales. Please prepare a memo-
randum for Reliable Auto Sales explaining the problem. Present quantitative support for your
conclusions.

A machine that produces hockey pucks costs $20,500 and produces 10 pucks per hour. Two simi- EXERCISE 8-10

lar companies purchase the machine and begin producing and selling pucks. The first company, Analyzing Property,
Northern Sales is located in International Falls, Minnesota. The second company, Southern Sales Plant, and Equipment
is located in Huntsville, Alabama. Northern Sales operates the machine 20 hours per day to meet
customer demand. Southern sales operates the machine 10 hours per day to meet customer
demand. Sales data for the first month of operations are:

Turnover

Northern Southern
Property, plant, and equUipment..............oc.coveeeeveeeeeeeeeeeseeeeeene $20,500 $20,500
Accumulated depreciation—Property, plant, and equipment ..... $500 $500
PUCKS SOI........eeeeeeceeeeeee et 6,000 pucks 3,000 pucks
SAIBS .o $12,000 $6,000

Required:

Calculate the property, plant, and equipment turnover ratio (sales divided by average PPE) for
both Northern Sales and Southern Sales. Explain how this ratio impacts the return on net oper-
ating assets of each company (assume the profit margin for each company is the same and that
there has been no change in PPE).
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EXERCISE 8-11 A press report carried the following news item: General Motors, Ford, and Chrysler are expected to
Analyzing the Relation post losses on fourth-quarter operations despite sales gains. Automakers’ revenues are based on_factory out-
between Revenues and put rather than retail sales by dealers, and last quarter’s sales increases were from the bulging inventories
Expenses at the end of the third quarter, rather than from models produced in the fourth quarter.

Required:

Discuss likely accounting-based reasons that contribute to these expected fourth-quarter losses of

automakers.

PROBLEMS

PROBLEM 8-1 Quaker Oats, in its annual report discloses the Quaker Oats Company
Determining Return on following:

Invested Capital Financial Objectives: Provide total shareholder returns (dividends plus share price
(conceptual) appreciation) that exceed both the cost of equity and the S&P 500 stock index over time.

Quaker’s total return to shareholders for Year 11 was 34%. That compares quite favor-
ably to our cost of equity for the year, which was about 12%, and to the total return of
the S&P 500 stock index, which was 7%. Driving this strong performance, real earnings
from continuing operations grew 7.4% over the last five years, return on equity rose to
24.1%. [Quaker Oats’ stock price at the beginning and end of Year 11 was $48 and $62,
respectively, and the Year 11 dividends are $1.56 per share.]

The Benchmark for Investment

We use our cost of capital as a benchmark, or hurdle rate, to ensure that all projects un-
dertaken promise a suitable rate of return. The cost of capital is used as the discount rate
in determining whether a project will provide an economic return on its investment. We
estimate a project’s potential cash flows and discount these cash flows back to present
value. This amount is compared with the initial investment costs to determine whether
incremental value is created. Our cost of capital is calculated using the approximate
market value weightings of debt and equity used to finance the Company.

Cost of equity + Cost of debt = Cost of capital

When Quaker is consistently able to generate and reinvest cash flows in projects whose
returns exceed our cost of capital, economic value is created. As the stock market eval-
uates the Company’s ability to generate value, this value is reflected in stock price
appreciation.

The cost of equaty. The cost of equity is a measure of the minimum return Quaker must
earn to properly compensate investors for the risk of ownership of our stock. This cost
is a combination of a “risk-free” rate and an “equity risk premium? The risk-free rate (the
U.S. Treasury Bond rate) is the sum of the expected rate of inflation and a “real” return
of 2 to 3%. For Year 11, the risk-free rate was approximately 8.4%. Investors in Quaker
stock expect the return of a risk-free security plus a “risk premium” of about 3.6% to
compensate them for assuming the risks in Quaker stock. The risk in holding Quaker
stock is inherent in the fact that returns depend on the future profitability of the Com-
pany. Quaker’s cost of equity was approximately 12%.

The cost of debt. The cost of debt is simply our after-tax, long-term debt rate, which
was around 6.4%.

Required:

a. Quaker reports the “return to shareholders” to be 34%.
(1) How is this return computed (provide calculations)?
(2) How is this return different from return on common equity?
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b. Explain how Quaker Oats arrives at a 3.6% “risk premium” needed by common shareholders as compensation
for assuming the risks of Quaker Oats’ stock.

c. Explain how Quaker Oats determines the 6.4% cost of debt.

Zear Company produces an electronic processor and sells it wholesale to manufacturing and PROBLEM 8-2
retail outlets at $10 each. In Zear’s Year 8 fiscal period, it sold 500,000 processors. Fixed costs for Analyzing Company
Year 8 total $1,500,000, including interest costs on its 7.5% debentures. Variable costs are $4 per Returns and Proposed
processor for materials. Zear employs about 20 hourly paid plant employees, each earning

Wage Increases
$35,000 in Year 8.
Zear is currently confronting labor negotiations. The plant employees are requesting substan-
tial increases in hourly wages. Zear forecasts a 6% increase in fixed costs and no change in either
the processor’s price or in material costs for the processors. Zear also forecasts a 10% growth in
sales volume for Year 9. To meet the necessary increase in production due to sales demand, Zear
recently hired two additional hourly plant employees.
The condensed balance sheet for Zear at the end of fiscal Year 8 follows (the tax rate is 50%):
Assets Liabilities and equity
Current assets Current liabilities .........cccooceueenen. $2,000,000
(OF: 1 | [T $ 700,000 Long-term 7%% debenture.......... 2,000,000
Receivables.................... 1,000,000 6% preferred stock, 10,000
Other.....cveeeeiiee. 800,000 shares, $100 par value........... 1,000,000
Total current assets............ 2,500,000 COMMON SHOCK....vvvr 1,800,000
Fixed assets (net)............. 5,500,000 Retained earnings.................. 1,200,000
Total assets ..o $8,000,000 Total liabilities and equity........... w
Required:
CHECK
a. Compute Zear's return on invested capital for Year 8 where invested capital is: (@) RNOA = 7.92%

(1) Netoperating assets at end of Year 8 (assume all assets and current liabilities are operating).
(2) Common equity capital at end of Year 8.

b. Calculate the maximum annual wage increase Zear can pay each plant employee and show a 10% return on net
operating assets.

(CFA Adapted)

Selected income statement and balance sheet data from Merck & Co. Merck & Co. PROBLEM 8-3
for Year 9 are reproduced below: Disaggregating and

Interpreting Return on
MERCK & COMPANY, INC. Common Equity
Year 9 Selected Financial Data ($ millions)

Income Statement Data

SAIBS TBVBNUR ... eeeeeeneseeeress e seeeneens $7,120
DEPrECIALION .....vovvoveeeeevcteeee ettt 230
INTEIESE EXPENSE cvvveoveeceeee ettt 10
PretaX iNCOME.........ovoveeeeeeeeeeeeeeee s 2,550
INCOME TAXES ....vvovveveeecececee e 900

Net income

(continued)
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';gg:;m dfe;ii Balance Sheet Data

CUITENE @SSEES ..vvovvoveeeeeereeeeeee e seeeseeeeeeseeeseseeseeseneneneseres $4.,850

Fixed aSSetS, MBt.........o.ovieeeeeeeeee et 2,400

TOEAl @SSEES ... 7,250

Current liabilities ........coocoovvvvveeeeeeeeeceee e 3,290

Long-term debt........ccoveevevrieeeeeeeee e 100

Shareholders’ 8qUILY.........coeveevcveeeeerreseceee e 3,860

Total liabilities & shareholders’ equity ........cccoovvvvvvvrnrneee. 7,250

. ________________________________________________________________________________________________________________________________|

CHECK Required:
(a) ROCE = 42.7% a. Calculate return on common equity for Year 9 using year-end amounts and assuming no preferred dividends.

(b) RNOA = 42.0% b. Disaggregate Merck’s ROCE into operating (RNOA) and nonoperating components. Comment on Merck’s use of

leverage. (Assume all assets and current liabilities are operating and a 35% tax rate.)

PROBLEM 8-4 As a financial analyst at a debt-rating agency, you are asked to analyze return on invested capital
Disaggregating and and asset utilization (turnover) measures for ZETA Corporation. Selected financial information
Analyzing Return for Years 5 and 6 of ZETA Corporation are reproduced in the Comprehensive Case chapter (see
on Invested Capital Case CC-2).

CHECK Required:

(a) RNOA = 18.14% a. Compute the following return measures for Year 6 (assume a 50% tax rate):

(1) Return on net operating assets. (2) Return on common equity.
b. Disaggregate ROCE for Year 6. Comment on Zeta’s use of financial leverage.

PROBLEM 8-5 Selected financial statement data from Texas Telecom, Inc., for Years 5 and 9 are reproduced
Disaggregating and below ($ millions):
Analyzing Return

on Common Equity Year 5 Year 9

Income Statement Data

REVENUES ... $542 $979
Operating income...........cccoovvrvnneee. 35 68
Interest eXpense.......ocoevevevveieinnes 7 0
Pretax income .........cooevvevcvevenne, 28 68
InCOme taxes.......cccoeevevveeercrienan, 14 34
Net inCome.......coeveverereeecie, 14 34
Balance Sheet Data
Long-term operating assets............ $ 52 $ 63
Working capital.......ccccocoveinininnns 123 157
Total liabilities........ccccccoveerrireinnnes 50 0
Total shareholders’ equity................ 125 220

CHECK Required:

(a) Yr. 5 RNOA = 10.0% a. Calculate return on common equity and disaggregate ROCE for Years 5 and 9 using end-of-year values for com-

putations requiring an average (assume fixed assets and working capital are operating and a 50% tax rate).
b. Comment on Texas Telecom’s use of financial leverage.
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Johnson Corporation sells primarily two products: (A) consumer cleaners and (B) industrial puri- ~ PROBLEM 8-6
fiers. Its gross margin and components for the past two years are: Analyzing Changes is
Gross Margin

Year 7 Year 6

Sales revenue

Product Ao, $60,000  $35,000
Product B ..o 30,000 45,000
Total .o, 90,000 80,000
Deduct cost of goods sold
Product A......coveeeceeee 50,000 28,000
Product B ... 19,500 27,000
Total ..o 69,500 55,000
Gross margin...........ccoee...... $20,500  $25,000

In Year 6, the selling price of A is $5 per unit, while in Year 7 it is $6 per unit. Product B sells for
$50 per unit in both years. Security analysts and the business press expressed surprise at Johnson’s
12.5% increase in sales and $4,500 decrease in gross margin for Year 7.

Required:
Prepare an analysis statement of the change in gross margin for Year 7 versus Year 6. Discuss and CHECK
show the effects of changes in quantities, prices, costs, and product mix on gross margin. Net decrease, $(4,500)
Comparative income statements of Spyres Manufacturing Company for Years 9 and 8 are repro- PROBLEM 8-7
duced below: Common-Size Analysis of
Comparative Income
Year 9 Year 8 Statements

Net SAlES....veeveeeeeeeeeeer e, $600,000 $500,000

Cost of goods sold.................... 490,000 430,000

Gross margin ........c.cocevevvveunnn. 110,000 70,000

Operating expenses.................. 101,000 51,000

Income before taxes................ 9,000 19,000

Income taxes........cccoeverveirnnnes 2,400 5,000

Net INCOME ..., $ 6,600 $ 14,000
Required:

a. Prepare common size statements showing the percent of each item to net sales for both Year 8 and Year 9.
Include a column reporting the percentage increase or decrease for Year 9 relative to Year 8 (round numbers to
the tenth of 1%).

b. Interpret the trend shown in your percentage calculations of a. What areas identified from this analysis should
be a matter of managerial concern?
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PROBLEM 8-8 At a meeting of your company’s Investment Policy Committee the possibility of investing in
Variations in Income and ZETA Corporation (see Case CC-2 in the Comprehensive Case chapter) is considered. During
Tncome Components discussions, a committee member asked about the major factors explaining the change in ZETA

Corporation’s income from Year 5 to Year 6.

Required:

Analyze variations in income and income components for ZETA Corporation that compares
Year 6 to Year 5. Analyze and interpret your results. (Hint: ZETA’s notes are useful for this

purpose.)
PROBLEM 8-9 Selected data from Kemp Corporation are reproduced below:
Analyzing Line-of*
Business Data KEMP CORPORATION
(extendiig beyond the Product-Line Information ($ thousands)
book)
Year 1 Year 2 Year 3 Year 4
Data communications equipment
NEE SAIES ... $4.616 $5,630 $4.847 $6,890
Income contribution..........c.cccoeevvviiennne. 570 876 996 1,510
INVENEOMY ... 2,615 2,469 2,103 1,897
Time recording devices
Net SAlES ... 3,394 4,200 4,376 4,100
Income contribution...........cccccovvvevnnee. 441 311 34 412
INVENEOMY ... 1,193 2,234 2,574 2,728
Hardware for electronics industry
NEE SAIES ... — — $ 1,564 $ 1,850
Income contribution - — — 771 919
INVENEOrY ..o — — 331 2817
Home sewing products
Net SAlES.......ovveeeieeeee $1,505 $ 1,436 1,408 1,265
Income contribution ..........ccccccoevviinnnee. 291 289 276 342
INVENtOry ... 398 534 449 526
Gorporate totals
Net SAlES ..o 9,515 11,266 12,195 14,105
Income contribution ...........cccoevvvvvennnne. 1,302 1,476 2,077 3,183
INVENTONY ... 4,206 5,237 5,457 5,438

Required:

a. For Year 4, compute the following ratios:
(1) Inventory/Sales.
(2) Inventory/Income contribution.

b. Compute the percentage of each product line’s income contribution to the total for each year. Interpret this
evidence.

c. Comment on the desirability of an investment in each product line.
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CASES

While you are an analyst at Investment Counselors, Inc., the senior portfolio manager at your firm CASE 8-1

makes a decision to increase sporting goods apparel manufacturer stocks in the firm’s managed Comprehensive
funds. You are assigned to recommend one stock as an initial investment to meet this long-run Analysis of Return on
objective. You diligently analyze and evaluate all communication stocks and narrow the decision Equity

to two athletic shoe manufacturing companies: Nike and Reebok.

The senior portfolio manager requests that you analyze the internal sources of earnings
growth for each company. You decide to disaggregate and evaluate the internal growth com-
ponents for each company to explain any trends in your variable of interest, refurn on common
equity. You identify the key components driving ROCE and develop the following spread-

sheet:

Nike Year 5 Year 4 Year 3 Year 2 Year 1
Return on equity (ROCE).........cocovevvrernirnnes 21.6% 12.1% 18.1% 17.8% 18.5%
Return on net operating assets (RNOA).......... 19.2% 15.5% 14.2% 13.4% 13.3%
Financial leverage (LEV)......cccocovvvvveivviccrnnns 14.4% 24.8% 32.8% 41.3% 46.0%
SPIEAL.....vevveeece e 16.6% —13.9% 11.9% 10.6% 11.3%
Sales growth ..o 14.55% 8.13% 4.26% 5.49% 2.49%
Gross profit margin...........ccccoevevevevnirenennns 42.9% 41.0% 39.3% 39.0% 39.9%
SG&A expense/Sales.........ccvvevevvvercerernrrennns 32.7% 31.9% 31.4% 30.6% 31.5%
NOPAT/SQIES ....vvvvevvrrircrisieeriesiesiseseenae 7.8% 7.1% 7.0% 6.6% 6.8%
Tax expense/Pretax income..........ccccoeorvenen. 34.8% 34.1% 34.3% 36.0% 37.0%
NOA TUMNOVET ..o . 2.19 2.03 2.02 1.96
Receivables tUrnover.............c.coooevirinineenes ) 5.50 5.78 5.95 5.79
Average collection period 66.33 63.19 61.37 63.09
Inventory tUrOVEr ........cc.vvvevvcceeeeeeeeeae . 437 4.29 4.03 413
Average inventory days outstanding............... 82.07 83.50 85.04 90.54 88.37
Long-term operating asset turnover............... 6.56 5.46 4.67 4.47 4.18
Accounts payable turnover............cccocevevene. . 11.72 12.83 11.86 10.62
Average payable days outstanding 31.13 28.46 30.78 34.36
Return on equity (ROCE).........cccovvvvverricrnns . 15.1% 15.0% 13.4% 1.9%
Return on net operating assets (RNOA).......... 12.7% 12.3% 12.1% 10.1% 1.9%
Financial leverage (LEV)........ccccoovvviririinennns 36.7% 44.5% 53.8% 78.8% 101.0%
SPIEAM .vve s 8.2% 6.3% 54% 4.2% —6.0%
Sales Growth .......oovveevecceeecee e 11.43% 4.51% 4.45% —-1.19%  —10.07%
Gross profit margin.........cccccoeveveveiecececnne, 38.4% 38.3% 36.7% 37.9% 38.5%
SG&A expense/Sales..........cooevvvvvrireeieinnnen. 32.2% 32.4% 31.8% 33.6% 35.2%
NOPAT/SQIES ..vovveveveeerceieeseeieeeseeeesieeeenne 5.0% 4.8% 4.3% 3.8% 3.2%
Tax expense/Pretax income...........c.ocvveveenne. 30.8% 31.0% 31.0% 36.1% 36.0%
NOA TUMNOVET ..o 2.55 2.59 2.84 2.66 2.50
Receivables turnover.........ccccocveeveivrieninnes 7.31 1.71 7.42 6.81 6.20

(continued)
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GASE 8-1 Reebok Year 5 Year 4 Year 3 Year 2 Year 1

(concluded) _ _
Average collection period ..........cccvvveveennne. 49.96 46.98 49.22 53.58 58.86
[nventory tUrnoVer .......cccooeevvviincieeieicenns 5.71 5.06 5.01 4.40 3.76
Average inventory days outstanding............... 63.95 72.10 72.88 82.88 97.17
Long-term operating asset turnover............... 13.67 12.62 12.31 10.25 9.03
Accounts payable turnover ...........ccceevevveene. 13.33 13.16 12.66 10.92 9.99
Average payable days outstanding .............. 21.37 21.74 28.83 33.43 36.54
Required:

a. Describe and interpret how the recent five-year trend in the components of ROCE determine the ROCE for both
Nike and Reebok.

b. Recommend a “buy” on one of these companies based on your analysis. Support your recommendation with
reference to your analysis in (a).

CASE 8-2 Walt Disney Company (Disney) is a diversified inter- ' Walt Disney Company

Analyzing Return on national entertainment company with operations in

Invested Capital three business segments. Revenue and operating income data for the three segments are shown
below.

BUSINESS SEGMENT DATA
Years Ending September 30

YEAR 13 YEAR 9
($ millions) Operating Operating
Business Segments Revenue Income Revenue Income
Theme Parks and Resorts ........... $3,441 $ 747 $2,595 $ 785
Film Entertainment.................... 3,673 622 1,588 256
Consumer Products..................... 1,415 355 411 188
$8,529 $1,724 $4,594 $1,229

The profitability of the leisure-time industry is influenced by various factors including economic
conditions, the amount of available leisure time, oil and transportation prices, and weather pat-
terns. Disney management has been very aggressive in raising theme park admission prices. For
the 10-year period ending in Year 13, admission prices increased at an annual rate of 8-9%
compared to less than 4% for U.S. consumer price inflation. Disney’s Film Entertainment business
has grown rapidly because of increasing acceptance of The Disney Channel and, importantly,
management efforts to exploit the expanding distribution opportunities available for its extensive
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video library. Disney’s Consumer Products revenue has also grown meaningfully as the company
has moved its product mix aggressively toward direct publishing and direct retail and away from
higher-margined licensing and royalty income sources. During the fourth quarter of fiscal Year 13
(ending September 30, Year 13), Disney wrote off the full carrying value of Euro Disney. The
charge was $350 million ($218 million after tax).

WALT DISNEY COMPANY
Selected Financial Statement and Other Data
Years Ending September 30

($ millions except per share data) Year 13 Year 9

Income Statement
REVENUE ... $ 8,529 $4.594
Operating expenses . (6,968) (3,484)

Interest expense.......cocooevencenciniinsinsinenn. (158) (24)
Investment and interest income....................... 186 67
Income (loss) from Euro Disney.............ccocveveee. (515) 0
Pretax inCOME ........cevvveeeeeeeeeeeeeee e 1,074 1,153
TAXES..ooovveoeveeeeeee s s (403) (450)
NEt INCOME. ..ovveoveeeeeeeee e $ 671 $ 703
Earnings per Share ..........cooecoeveveeeeeeereeeeeeenene, $ 1.23 $ 1.27
Dividends per Share.........co.cooveveeeeevereeeereenene. $ 0.23 $ 0.11

Balance Sheet

$ 381

224

909

_ 1889 662

Current @SSeES .....cocvvveverreecee e 4,251 2,176

Property, plant, and equipment, net .................. 5,228 3,397

Other @SSets .......ccccvvvererreeccsee e 2,272 1,084

TOEAl @SSELS ...vvoveeee et $11,751 $6,657

Current liabilities.......coeoevererererereisciseiens $ 2,821 $1,262

BOMTOWINGS......ocvvveevceeeeieeese et ennaas 2,386 861

Other liabilities..........ccccevvevreereerereeeeeceeienis 1,514 1,490

Stockholder’s equity.........ccccoevererereirciriireinns 5,030 3,044

Total liabilities and stockholder’s equity............ $11,751 $6,657

Cash Flow from Operations................c..ccccoovvennen. $ 2,145 1,275
Other Data

Common shares outstanding (millions)............. 544 552

Closing price, common stock per share.............. $ 31.75 $30.22

Note: Total assets except “other” current assets, current liabilities, and other
liabilities are considered operating, as is the Euro Disney loss.
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CHECK Required:

(@) Yr. I3RNOA = 11.82% a. Calculate and disaggregate Disney’s return on common equity for each of the two fiscal years ending

(b) Yr. 13 Spread = 15.34% September 30, Year 9, and September 30, Year 13 (use years-end figures for any ratio computations typically
using averages).

b. Drawing only on your answers to part (a) and the data available, identify the two components that contributed
most to the observed change in Disney’s return on common equity between Year 9 and Year 13. State tworeasons
for the observed change in each of the two components.

(CFA Adapted)
CASE 8-3 The following data are excerpted from the annual report of Lands’ End: Lands’' End
Am]ym.ofcmmm"?l.ze For the period ended Year 9 Year 8 Year 7 Year 6 Year 5
Profitability Information

Net SalBS.......cecceeeeeeeeeeeeeeeeees 100% 100% 100% 100% 100%

Cost 0f SAlES........ovveererereeeecee 55.0 53.4 54.5 57.0 57.6

GrosS Profit......cccccveveersreeieeieseeeesnnas 45.0 46.6 455 43.0 424

Selling, general, and administrative......... 39.7 38.8 37.9 38.0 36.0

Other BXPENSES .....cvvevvereereereeerereeeeieeeenens 3.0 2.7 3.0 2.0 2.8

Net inCOME.......ccocviveiiieieiecee s 2.3% 5.1% 4.6% 3.0% 3.6%

Required:

a. Discuss three factors that determine the level of sales and the level of gross profit as a percentage of sales in
the context of the operations of Lands’ End.

b. Interpret the gross profit percentage (45% in fiscal Year 9) in simple terms and in the context of Lands’ Ends
operations.

c¢. Catalog mailing costs constitute a large percentage of the selling, general, and administrative costs for Lands’
End. These costs have risen steadily as a percent of sales (only 32.4% in fiscal Year 4). Discuss drivers (deter-
minants) of total catalog mailing costs and indicate ways that Lands’ End can control these costs. With each
suggestion, indicate how the level of sales might be affected.

CASE 8-4 Selected financial data for Petersen Corporation’s revenue and income (contribution) are repro-
Analysing Line-of- duced below:
Business Data Line of Business Year 1 Year 2 Year 3 Year 4
Revenue
Manufactured and engineered products
Engineered equipment..........coooooovvvoneveesrvennes $ 30,341 $ 29,807 $ 32,702 $ 43,870
Other equIipmMENt ........cvevveeeceeieeeeeeee e 5,906 5,996 6,824 71,424
Parts, supplies, and SEIVices...........cccoevvrvrenn. 29,801 29,878 33,623 44223
Total manufactured & engineered products........ 66,048 65,681 73,149 95,517
Engineering and erecting Services...........c.......... — — 12,261 36,758
Total environmental systems group .................... 66,048 65,681 85,410 132,275
Frye CopysyStEMS .....cooorvvreeirereeee e 25,597 28,099 31,214 39,270
Sinclair & Valentine — 53,763 57,288 60,973
N 11111 16,615 15,223 20,445 24,808
Total graphics group.....cocoeeevveeveerereveeiseeeeeinns 42212 97,085 108,947 125,051
Total consolidated revenue .............cccoooevveevveene. $108,260 $162,766 $194,357 $257,326

(continued)
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Line of Business Year 1 Year 2 Year 3 Year 4 CASE 8-4
| (concluded)
ncome
Manufactured and engineered products.................. $ 3,785 $ 3943 $ 9,209 $ 10,762
Engineering and erecting SErvices ..........c..ccovuuvenne. — — 1,224 3,189
International operations..........cccccoevvevvcvcieicnnas 2,265 2,269 2,030 2,323
Total environmental systems group ............c....... 6,050 6,212 12,463 16,274
Frye CopySyStEMS ......covvreeeeeee e 1,459 2,011 2,799 3,597
Sinclair & Valenting..........ccoocevveveevecvvieiesee e, — 3,723 4,628 5,142
AL GArBer oo (295) 926 1,304 1,457
Total graphics group......ocoeeevveevecvveevreeseeieenenas 1,164 6,660 8,731 10,196
Total divisional income 7,214 12,872 21,194 26,470
Unallocated expenses and taxes ............ccocceeveuenee (5,047) (8,146) (13,179) (16,449)
Total income from continuing operations ................ $ 2167 $ 4726 $ 8015 $10,021

Required:

a. Use common-size statements to analyze every division’s (1) contribution to total consolidated revenue, (2) con-
tribution to total divisional income, and (3) ratio of income to revenue.

b. Interpret and comment on the evidence revealed from your computations in a.

Wal-Mart and Sears (prior to its merger with Kmart), two ~ Sears and Wal-Mart  CASE 8-5

large retailers in the U.S, offer an interesting study in Analysis of Profitability,
contrasts. Wal-Mart has steadily grown to become the world’s largest retail company and probably Turnover, and Leverage

the most successful story in the history of retailing, Sears, on the other hand, had along and check-
ered past. In the early 1990s the company almost went out of business. It subsequently reinvented
itself, made a comeback (although somewhat bumpier than its investors and creditors would have
liked) and, finally, merged with Kmart. The table below provides some comparative information on
the two companies for 1999 (the financial statements are available in Exhibits I and II).

Market Total Net Earnings Dividlend P/E  P/B
$ Billions Cap Revenue Assets Equity Income Growth* ROE Payout Ratio Ratio

Sears $ 1121 $41.07 $3695 $6.84 $1.45 55% 225%  24% 773 164
Wal-Mart  $244.02 $166.81 $70.349 $25.83  $5.38 175% 229%  16% 4535 9.45

*Cannot compute form data provided

The differences between the two companies are striking, especially with respect to market valua-
tion. While Wal-Mart’s assets were twice that of Sears, its market capitalization at that time was
more than 20 times that of Sears! The P/E and P/B ratios shed further light on this issue: the P/E
and P/B ratios for Wal-Mart are almost six times as large as those of Sears!

This differential valuation is more surprising because Wal-Mart and Sears appeared to be
equally profitable: in that year their ROEs were comparable at 22.5% and 22.9%, respectively. Part
of the higher market valuation of Wal-Mart could be attributable to its superior growth: Wal-
Mart’s earnings grew at a compounded 17.5% per annum during the 1990s compared to 5.5% for
Sears over a comparable period. However, earnings growth may not be the entire story. A more
detailed analysis of the profitability of the two companies is called for, and it is important to ana-
lyze how each company generates this return.
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Financial Statement Analysis

Required:
CHECK 1. Rearrange the income statement and the balance sheet of the two companies for 1999 and 1998 in the operating/
(2) Sears RNOA = 8.76%; nonoperating format described in the text (for example, compute NOA, NFO and SE for the balance sheet, and
Wal-Mart compute NOPAT, NFE and NI for the income statement.)
RNOA = 15.02% 2. Provide a breakdown of the ROEs of the two companies for 1999, showing the financial and operating leverages

described in the text and their effects (you may use closing balance sheet data for computation of the return
ratios). What does this analysis tell you about the inherent riskiness of the two companies?

3. Analyze the profit margin and asset turnover ratios of Sears and Wal-Mart by using line item information from
the financial statements.

4. Sears’s low return-on-assets ratios and high leverage could be partly attributable to its credit card
operations—in effect, Sears is partly a financial institution. Exhibit Ill provides select financial information
about Sears’ credit card and other businesses obtained from segment information in notes to its financial state-
ments. Using this information, analyze the relative returns on Sears’s retailing and financing businesses and its
impact on the overall risk-return profile of the company.

5. Summarize your conclusions for the difference between the market capitalization for Sears and Wal-Mart using
the analysis you performed in parts 1 through 4.
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Sears’ Financial Statements

SEARS CONSOLIDATED STATEMENTS OF INCOME

($ millions) 1999 1998
Revenues
Merchandise sales and services . . $36,728 $36,957
Credit TeVENUES..........eveceeeeeee e 4343 4618

Total revenues ...........cocevvvvevveeeriecienne 41,071 41,575
Costs and expenses
Cost of sales, buying, and

OCCUPANCY w.voveveveeceeveceeeeseeseesesseeneas 27,212 27,444
Selling and administrative..........cc..coo...... 8,418 8,384
Provision for uncollectible

ACCOUNES...vvorvvvriecese e 1,287
Depreciation and amortization 830
INEEIESE ..o 1,423
Restructuring and impairment costs ........ 41 352

Total costs and expenses 39,720
Operating income ..............ccccoeovevecrennne. 1,855
Other income, Net........cccoovevirveierirniinns 28
Income hefore income taxes,

minority interest, and

extraordinary 1oss.............cccooeveernne. 2,419 1,883
Income taxes 904 766
Minority interest 62 45
Income before extraordinary loss........... 1,453 1,072
Extraordinary loss on early

extinguishment of

debt, net of taX.......cocoveeveveieennn, 24
NEtinCome..........cooovvvvveervveeenereeesenreens $ 1,453 $ 1,048

Exhibit |

SEARS CONSOLIDATED BALANCE SHEETS

($ millions) 1999 1998
Assets
Current assets
Cash and cash equIValents ...........coo.ccoovveeereeceserecresr, $ 729 § 49
Retained interest in transferred credit card
TECRIVADIES ... 3,144 4294
Credit card receivables . 18,793 18,946
Less allowance for uncollectible accounts ................... 760 974
Net credit card receivables ............cocevveeeervecvcernnne, 18,033 17,972
Other receivables...........ccucvevevivriiecceeeccee 404 397
Merchandise inventories............c.ocevveveveevseeeeeeeesrerenes 5,069 4816
Prepaid expenses and deferred charges .. 579 506
Deferred inCOME taXeS .........ccovvvevivcvcieeiieeeecesesas 709 791
Total current assets.........ocvevcveveeeereiececeeeese e 28,667 29,271
Property and equipment
LANG coooeoee 370 395
Buildings and improvements....... ... 0837 5,530
Furniture, fixtures, and equipment .. .. 5,209 4871
Capitalized 1BASES .........ccveveveeieieeecrceeeesee s 496 530
Gross property and equipment ..........cccceeveevneierennn. 11,912 11,326
Less accumulated depreciation ............ccccovvvvevvevrnnee. 5,462 4946
Total property and equipment, net. ...........cccooevvvvnnne. 6,450 6,380
Deferred income taxes 367 572
(018 T O 1,470 1,452
Total @SSBLS ... $36,954 $37,675
Liahilities
Current liabilities
Short-term DOrrOWINGS ........cevvvverveeeeeeeeseeeeeseeeeseessesenes $ 2,989 $ 4,624
Current portion of long-term debt and
capitalized lease obligations..............ccccocveviernnce. 2,165 1,414
Accounts payable and other liabilities ...........cccco....... 6,992 6,732
Unearned reVENUES .........c.ccuevervevevrecieeeseesseessessesens 971 928
OtNET EAXES ....veveevece e 584 524
Total current liabilitieS .........cccoovevveevevveeeeeceeeeee 13,701 14,222
Long-term debt and capitalized lease obligations ... 12,884 13,631
Postretirement benefits............cocevevveeieieiceeeece e, 2,180 2,346
Minority interest and other liabilities .............ccccooevereriennnes 1,350 1,410
Total liabilities 30,115 31,609
Shareholders’ equity
Common shares ($0.75 par value per share,
1,000 shares authorized, 369.1 and
383.5 shares outstanding) ...........cccoeveeveivereciveiecieninns 323 323
Capital in excess of par value..........cc.coeevvereerrsrerninninnins 3,554 3,583
Retained 8arings.........ccccocvvviveivecveeneseeeeseeesess s 5,952 4,848
Treasury stock—at cost.. (2,569) (2,089)
Deferred ESOP expense (134) (175)
Accumulated other comprehensive income-...........ccccooceeeeenee (287) (424)
Total shareholders’ equity ..., 6,839 6,066
Total liabilities and shareholders’ equity........................... $36,954  $37,675
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Financial Statement Analysis

Exhibit Il Wal-Mart’s Financial Statements
EEEEEER
WAL-MART INCOME STATEMENT WAL-MART CONSOLIDATED BALANGE SHEETS
($ millions) 1999 1998 ($ millions) 1999 1998
Revenues Assets
NEt SAIES......veoeeeeeeeeeeeeeeeeeeee s $165,013  $137,634 Current assets
Other inCome—net .......ccccovvveereeeerennenn. 1,796 1,574 Cash and cash equivalents .........c..ccoooeeveeceeereecrceee e $1856 $ 1879
166.809 139.208 RECRIVADIES ...t 1,341 1,118
' ' Inventories
Cost and expenses At replacement COSt ..o 20,171 17,549
COSt OF SAIBS ...vvoovvvvvv 129,664 108,725 LSS LIFO TESEIVE ....oooevrrveveeeereercrieeesereceesseeessesssecessenennes 378 473
Operating, selling and general Inventories at LIFO COSt .......oovvrvvvoooeeececcccceccoeeeeeeeeeeeseeesee 19,793 17,076
and administrative expenses.............. 27,040 22,363 Prepaid expenses and Other .............oooooooooovovoccccocereeeeeeeeeren 1,366 1,059
Interest costs
Debt ..o 756 529 24,356 21,132
Capital [6ases..............cccoommrrrvrveeern. 266 268 Total current assets

157726 131,885 Property, plant, and equipment, at cost

. LANG oot 8,785 5,219
Inc0|.11e l?ef(.lre income te.lxe.s, Building and improvements ...........coccoeeereveveveseeesesssseenis 21,169 16,061
umr:ggzlstzIli:?tzisZuTJg:lt:grlils Fixtures and equipment ..........cccocvvvvevveveceeiccceeceeee s 10,362 9,296
and cumulative effect of Transportation equipment .........cccocoevvrvvivvcircveceeseeees s i 553
accounting change..........cocvevevueeeveene 9,083 7,323 41,063 31,129
Provision for income taxes Less accumulated depreciation...........c.ccoeveveveeierrceceeereeieenns 8,224 7,455
CUITBNE oo 3,476 3,380 Net property, plant, and equipment ...........cc.c.coevvvvervverenevieniiins 32,839 23,674
Deferred.......covveirincrienireeceinn, (138) (640) Property under capital lease
3,338 2,740 Property under capital [8aSe........cc.ccovvvrvevreivciececeeeeees 3,335
Income hefore minority Less accumulated amortization _ 1155 1,036
interest, equity in Net property under capital [€aSes .........coooovevveenerrncrnenincnens 3,130 2,299
unconsolidated subsidiaries, Other assets and deferred charges
and cumulative effect of Net goodwill and other acquired intangible assets........................ 9,392 2,538
accounting change 5,745 4,583 Other assets and deferred Charges..........cc.cocoevvreneersrerninnirniennns 632 353
Minority interest and equity TORAL ASSELS .o $70,349  $49,996
in unconsolidated subsidiaries........... (170) (153) _—
Income before cumulative Liabilities and Shareholders’ Equity
effect of accounting change.............. 5,575 4,430 Current liabilities
Cumulative effect of accounting COMMEICIAl PAPET ......ooeeeeeeeeeeee e $ —
change, net of tax benefit of $119...... (198) Accounts payable .. 10,257
Netincome ...........cocoevveeeveeeseeeee, $ 5377 $4.430 ACCTUEH lIaDilItIBS .........vveeveeeeeeeee e 4,998
_ ACCIUEH INCOME TAXES ... 1,129 501
Long-term debt due within one year .... 1,964 900
Obligations under capital leases due within one year ................... 121 106
Total current liabilities................cccoooovvevevccecceeee 25,803 16,762
Long-term debt.........c.oooevevciccecce s 13,672 6,908
Long-term obligations under capital |6ases..........cccccooeerrrrernnce 3,002 2,699
Deferred income taxes and other 759 716
Minority interest ... 1,279 1,799
Shareholders’ equity
Preferred stock ($ .10 par value; 100 shares authorized,
none issued)
Common stock ($ .10 par value; 5,500 shares authorized,
4,457 and 4,448 issued and outstanding in 2000
and 1999, reSpectively)........oceveveiveircveerceeseseeeeesesns 446 445
Capital in excess of par Value ..........cccoeeevvveevceereceeeeeececens 714 435
Retained Barings ........ccoovevvevevvcvcrieceeeeeeee s 25,129 20,741

Other accumulated comprehensive income . (455) (509)
Total shareholders’ equity ...........ccoooovvrveieevivceeee 25,834 21,112

Total liabilities and shareholders’ equity..........c..ccocoovvrrvinrirnnnnns $70,349 $49,996
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Select Segment Information—Sears Exhibit Ill
EEEEEER

1999 1998

($ millions) Credit Others Total Credit Others Total

Revenue........cccoeviveinnnes $ 4,085 $36,986 $41,071 $ 4369 $37,206 $41,575

Depreciation....... 14 792 848 13 784 830

Interest revenue 0 59 59 0 59 59

Interest expense............... 1,116 211 1,327 1,244 238 1,482

Operating income............. 1,347 1,388 2,413 1,144 922 1,855

Total asSets.......ccoocevveenc. $20,622 $14,541 $36,954 $21,605 $25,364 $37,675

Note: Columns for Others and Credit may not add up to Total because of corporate expenses.
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